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tree-ring density (thin solid line),
averaged across all sites in Figure 1,
and shown as standardized anomalies
from a common base (1881-1940),
and compared with equivalent-area
averages of mean April-September
temperature anomalies (thick line).
[SM - it looks to me like the labels in
the caption are reversed between
density and temperature]

Figure 2 of Briffa et al 1998 breaks
this down into regions. The figure
below is an excerpt from their Figure 2
showing Siberia — Yamal would be in
West Siberia. The left half shows
density (MXD), the right half ring
width (RW). The figure of particular
interest to us is WSIB ring width (third
row, right half). The thick line in the
left panel shows temperature, the thin
line ring width (both smoothed),
showing that ring widths in this
region, as elsewhere in the world, had
not kept pace with temperature. The
right panel shows the difference (the
“divergence problem”). The
“divergence problem” affects both ring
width and density.
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[http://climateaudit.files.wordpress
From Briffa et al 1998 Figure 2. Figure
2 Regional tree growth and
temperatures over the past 120 years.
Decadally smoothed tree growth (thin
lines), maximum-latewood density or
ring width, plotted against mean
summer temperatures (thick lines),
April-September for density and June-
August for ring width, for each of the
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temperature), shaded to emphasize
negative values, are shown to the
right of each pair of curves. All data
series have been scaled to have zero
mean and unit variance over the
period 1881-1940 (except the short
ESIB temperature series which uses
1932-75

One of the sites included in this survey
is Khadyta River, Yamal. I'll do a count
of how many series are included in the
WSIB region, but it is obviously a
considerable number.

The “divergence problem” has been
discussed on many occasions at this
site. If ring widths have gone down in
the last half of the 20th century
despite increasing temperatures, how
can we use information from prior
periods to reconstruct past
temperatures? Kurt Cuffey was much
puzzled by this conundrum at the NAS
panel hearings.

In the present case, we're talking a
different sort of divergence entirely.
Here we’re not talking about
temperature. We're talking about the
discrepancy between Schweingruber’s
large-scale network of both ring width
and density ( a network involving
hundreds of cores and thousands of
measurements), with a WSIB network
with dozens of sites where late
century ring widths and MXD go down,
as compared to Yamal - one site
where late century ring widths go
strikingly up.

I got an email this morning in which
Hantemirov told a correspondent that
they used 120 cores in a forthcoming
study and only used long cores for
corridor standardization because that’s
what you need for this method. This
confirms my prior point that the
requirements of the corridor method
were different than the RCS method
and that a much larger population of
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However, Hantemirov also says that
the results with a larger population are
very similar to the Briffa results -
raising the question of why the Yamal
results are so different from Polar
URals and the Schweingruber network
- a question that I'll ask him.
Hantemirov:

Low number of used for
reconstruction subfossil
series is explained by
standardisation method
(“corridor method”). We had
to select the longest series.
The same concerns to living
trees. There are not much old
living trees in this area (in
contrast to Polar Urals),
therefore we used only 17
(not 12) samples from living
trees. At that time we had
close collaboration with CRU
and I sent to Keith Briffa
these raw data.

So, selection of samples has
been made by me taking into
account length of individual
series as well as common
requirements to increment
cores (exclusion samples
with compression wood,
rotten wood etc.).

As to reliability of recent
increase in tree growth — we
have updated our data using
many additional subfossil and
living trees and using RCS-
method. I.e. we used not
only long series. Therefore
many (120) living trees have
been used. Finally, we have
got almost the Briffa’s result.
These results not published
yet. I'm going to prepare
paper at the end of this /
beginning next year. Some
preliminary data you can find
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fig 2 — sample replication, fig
5 - temperature
reconstruction (smoothed by
three filters — 50-, 100- and
200-year)
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This entry was written by , posted on,
filed under Briffa
[http://en.wordpress.com/tag/osbc
-briffa-2006/] , Yamal and Urals
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-and-urals/] . Bookmark the
permalink
[http://climateaudit.org/2009/10/0
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A result I've been anticipating
and that I'm guessing Briffa
would have established before
issuing his unresponsive
“response”. Hence my view that
the stick is currently broken,
but might be reparable. For a
while, at least.

Tom&ed Oct 7, 2009 at 9:04 AM |
Pergpalek [#comment-197581] |
Reply [/2009/10/07/yamal-and-

I'mthet-diverngey yetphatéem/?

rePI9bRmHadeostgBdingdbisond]

here is a widespread

“divergence problem” with tree
ring widths declining at sites
across the globe since about
1960. However, if you do a
“reconstruction” these data
show a sharp uptick in late 20th
century temperatures. QED

Michael
ed Oct 7, 2009 at 9:24 AM |

Permalink [#comment-197582] |
Reﬁfﬁﬂ%@”?@/@??%ﬁal%nd-
R MPEFgEHES SSBBIBRF?
repA®com=197582#respond]

and thg—gwﬁ -problem/?

replyto—rg%com— respond]
Re: Michael Smith (#3)
[#comment-360285] ,
Well, there is no point
using a *global*
temperature record to
compare against a local
population of trees. Unless
they have a reliable
temperature surface
station in the region, any
correlation with a
temperature record in
some other reason is
utterly useless. You might
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as well use a temperature
record from Mars.

Then they will have to look
at the temperature records
kept, if in fact there is a
local surface station to
compare against, and deal
with the well known
“vodka effect”, in which
commissars in northern
regions of Russia and
Siberia during the USSR
period were known to
fudge lower than actual
temperatures in the record
as a means of justifying
getting more heating
fuel/coal shipped to the
reporters jurisdiction in
the 5 year plans. So,
they'd need to look at the
1960-1992 period for any
significant uptick anomaly
of 2-5 degrees that would
reflect the artificiality of
the prior record.

Kenneth
Fritsch

Can we get a link to an
explestati@tto?, thedfoatid k8 AM |
Permetihed?MproogeletfdiEdS83 ] |

Rep§sS[RO (9)d 09 CE3/ yeearabldad-
treghe-divergence-problem/?

regiXiogR Mk idald tespond]
difference between the corridor
and RCS methods, I will
continue to have layperson’s
doubts about these methods
capability to compensate for the
type of changing growth that
has been described in the
literature for the larches used in
the Yamal series.

mjtlst

Posted Oct 7. 2009 at 9:33 AM |
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PermaliRe [ Kennette Fritsth584 ]
| Rep(# &P DO MY @Myamal-

and-th8&fl¥8rdence-problem/?

replytocom 197584 #respond]
htt www.cybis.se/forfun/dendro/corridor

[http.//www.cvbls.se/forfun/dendro/corrldor/1

Posted OctCzBRILEL 11:44 AM |
Permalink [#Iggn‘m el \¢ 00]
| Reply [/ yamal-

and-the- dlvg em/7

replytocomﬂ%ﬁ’i%ﬁﬁggs, $nd]
looks like stock-
market charting gone
mad. Can someone
post the
mathematical
analysis behind this
mumbo jumbo?

Posted Oct 7, 2004 &S 00 PM |

Permalink [#compeng-Bazpi4 ]

| Reply [/2009/d#49{/yamal-
and-the-divergenge-aaniene/?
replytocom=1978@#%pespond]

http: //halshs.archives

ouvertes.fr/docs/00/10/97/51/PDF/Friba

TRACE2005.pdf
[http://halshs.archives

ouvertes.fr/docs/00/10/97/51/PDF/Fribourt

TRACE2005. pdf]

This is where
the details are
posted on
corridors...sorry
if this is a
duplicate post
my other didn't
seem to go
through.
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PodRitdst 7, 2009 at 9:39 AM |
Permaligk [ k&R YT RFitseh S5 ]

| Reppy: Ly PROGAHAEAfYamal-
and- thgg@gg%ence problem/?
replytocom=197585+#respond]
This may be more helpful
by the authors G.

Lambert, S. Durost & J.
Cuaz...

http: / /halshs.archives-
ouvertes.fr/docs/00/10/97/51/PDF/Fribourg
-TRACE2005.pdf

[http://halshs.archives-
ouvertes.fr/docs/00/10/97/51/PDF/Fribourg
-TRACE2005.pdf]

posteffoct 7, 2009 at 7:35 PM |
Permalﬂﬂ{ﬂtﬁ)mment 197666]

and- thﬂed'KG -ﬂfé}ﬁeFPirtQEI-?m/ ?
replytogg@gy T etrRRiarRSPONd]
3602877,

My goggle failed

Maybe you should try
Google instead @

Al3Rs8ad Oct 7, 2009 at 9:44 AM |
pPerBIMBK [#comment-197586] |
RephydrR 89 mf1er/yamal-and-

the-divergence-problem/?
rpnl\/fnrnm_1Q7'§Rﬁ#rpqnnnd1

“degsi&m®t 7, 2000 at 10:17 AM |
Permgdipk Vi gamen tied hs SAh |
Repudd@0 0y AP @deand-

wotttte-divergence-problem/?

replytocom=197587 #respond]

Micajah
[http://crokersack.blogspot.com/]

Posted Oct 7, 2009 at 10:19 AM |
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Permalink [ #comment-197588] |

Reply [/20QD,1E0)E fy@seidand-
thesudiv @7g@rtet-problem/?
replytocamele9 7o88 imiagpond]
trees. At that time we
had close collaboration
with CRU and I sent to
Keith Briffa these raw
data.”

Name those 17 and show that
they are used in Briffa [QSR
2000].

Kughadoct 7, 2009 at 10:20 AM |
Penmalink [#comment-197589] |
Reply [/2009/10/07/yamal-and-

Redlive-thisasgefftopie Fobtbis/?

reblieadosn £eaye &rl fregpiond]

move this post as needed.

You've done a great job
highlighting many deficiencies in
archiving, sharing, and
openness by many climate
scientists. My question is the
reverse of this—are there are
any scientists or papers (maybe
even ones who have worked
with The Team?) that are
exemplars? Papers with open
data, open methods, and full
archiving? Scientists who both
talk the talk and walk the walk?
Examples of the way things
SHOULD be for everybody
working in a scientific field and
publishing papers?

I think it would be very
interesting to see some
examples of papers or scientists
who do chose to do the Right
Thing!

-Kuz
tallbloke

Bl rosted Oct 7. 2000 at 10:26 AM |
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R o SFevessTpoRtret- L7690 | |
Reply [/2009/10/07/yamal-and-

thegivergraks twrridem/?
replytoge enk94589 #respond]
caption are reversed
between density and
temperature]

It would certainly make sense
to a layman like me that density
would increase if ring widths
diminished. It would also make
sense to me as a layman if this
had more to do with water
availability than temperature.
But like Gavin, I don’t have
much of a clue about this stuff.

So did the summertime temps
in the Yamal region drop away
post 1940 in the thermometer
record?

ATHiker

Wow! Do you have the acid
levels for the tree for the 60s,
70s, and 80s? I notice the
maximum divergence occurs
right at the maximum of acid
rain during that time and start
to recover after we started the
clean air acts. The US (USGS)
and Russia worked together to
track the growth rings and PH
levels during studies of acid rain
during that time. One way
arsteitAi 4tROOPrRIN Bha1phM |
Penraabinds Weokn Beeri uke 2hE tiee
Reghyef A2E@Y O @R/ parofflednd-
limebkond \rhisywaukd ghobate/ ?
reP’l?ﬂ@f&ﬂﬁ@’ 1Ry Eropese Ptﬁhd]
imestone would remove the
acidity caused by the rains).
Could you plot the change in the
PH starting around the 60s? It
should be with the growth ring
records.
Thanks
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bender

Re: ATHiker (#11)
[#comment-360299] ,
Cite a published study
linking acid rain to
enhanced growth on or off
limestone and show that
Yamal has the appropriate
soil acidity to generate the
predicted response.

Posted OATHYIEBS at 10:47 AM |
Permalink [ﬁgpma@p— {5921
reply UL T

and-the-digegante- REGOLE/?
replytocorrmcﬁq@ond]

appears that Steve
has just reaffirmed
Briffa Letters to
Nature
Nature 391, 678-682
(12 February 1998) |
Posted Octdpi 2009 @B&135596; |
Permalink [#Regcaivaesht41Mapo3]
| Reply [/ 21099/ A5@PIeG kil -
and-the-divNRYERREpt8Blem/?

replytocom=15 a?g%#fré(}%%g}d]

northern America
and Eurasia, tree-
ring density series
display a strong
coherence with
summer temperature
measurements
averaged over the
same areas,
demonstrating the
ability of this proxy
to portray mean
temperature changes
over sub-continents
and even the whole
Northern
Hemisphere.

During the
second half
of the

http://climateaudit.org/2009/10/07/yamal -and-the-divergence-problem/
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twentieth
century, the
decadal-
scale trends
in wood
density and
summer
temperatures
have
increasingly
diverged as
wood

density has
progressively
fallen. The
cause of

this
increasing
insensitivity
of wood
density to
temperature
changes is
not known,
but if it is

not taken
into account
in
dendroclimatic
reconstructions,
past
temperatures
could be
overestimated.

Moreover, the recent
reduction in the
response of trees to
air-temperature
changes would mean
that estimates of
future atmospheric
CO2 concentrations,
based on carbon-
cycle models that are
uniformly sensitive to
high-latitude
warming, could be
too low.”

Steve is just doung
what Briffa did 10+

http://climateaudit.org/2009/10/07/yamal -and-the-divergence-problem/ 2/19/2010
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years ago.
http: / /www.nature.com/nature/journal/v391

[http://www.nature.com/nature/journal/v391/i

Posted Oct 7, 20beRder.18 AM |

Permalink [#commREenififikadt]
| Reply [/2009/4#4{gf/yamal-
and-the-divergengssghtaleme/?
replytocom=1975@p%ne3p0nd]
That's not “one
better”; it's
irrelevant to
what I asked.
And as for
Steve “re-
doing” what
someone “did
10 years ago”,
that’s pretty
much what
audit is:
checking that
everything adds
up as stated,
investigating
discrepancies.

Ferdinand

Engelbeen
[http://www.ferdinand

=enqelbeen.be/1

Re: ATHiker

(#13)
[ #comment-

360306] ,

Posted Oct 7, 2009t3€55 'FPAM |
Permalink [#Comﬁjéﬁ%gi C7e599]
| Reply [/2009 ﬁ@ﬂ%ﬂl—
and-the-divergenggiaplpea/?
replytocom=197 38 raseens |
(species
dependent?)
treshold, how
can one deduce
any
temperature

http://climateaudit.org/2009/10/07/yamal -and-the-divergence-problem/
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trend from the
past, if e.g. a
similar (or
higher)
temperature
during the MWP
will cause a
similar (or
deeper)
divergence?

ATHiker

Re:
Ferdinand
Engelbeen
(#19)
[#comment

360318],
Briffa

states

Posted Oct 7, 2009 at 11358%M |
Permalink [#comment; %f]
| Reply [/2009/10/0 I;@rpyal—
and-the-divergence-pgellem/?
replytocom=197603 #grepgad]
from
temperature
for some
unknown
reason
When
reconstructing
temperatures
you need
to remove
the
divergent
trees!!!!

Ferdinand
Posted Oct 7, 2009 at 12:20€ Elbeen
Permalink [#comment—197§£&mw_ferdinand
| Reply [/2009/10/07/yamal-
and—the—divergence—problezp/czemeen_be”

replytocom=197610#respond]
Re:

ATHiker
(#23)
[#comment

http://climateaudit.org/2009/10/07/yamal -and-the-divergence-problem/ 2/19/2010
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360325] ,
Briffa
states
that
at
middle
of
the
20th
century
tree
diverge
from
temperature
for
some
unknown
reason
When
reconstructing
temperatures
you
need
to
remove
the
divergent
trees!!!!

Indeed,

but

as

trees

have

a

growth

optimum

with

temperature

(all

other

necessities

in

sufficient

quantity

available),
when

the

http://climateaudit.org/2009/10/07/yamal -and-the-divergence-problem/ 2/19/2010
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bend
Posted Oct 7, 2009 at 12:27 PM |

divergence
starts

is up

to

each

tree
individually.
A

warmer
temperature
in

the

MWP

may

have
consequences
for

more

trees

in

that

period

than

in

the

current
period...

er

Permalink [#comment-197&e1 ]
| Reply [/2009/10/07/yaAEHiker
and-the-divergence-problef#23)

replytocom=197611#respédpmment

360325] ,
On

what
basis
do

you
remove
the
“divergers"?
You
don’t
know
why
there
is
some

http://climateaudit.org/2009/10/07/yamal -and-the-divergence-problem/
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divergence
or

what
trajectory
they're
diverging
from.

You

can’t

even
prove

the
“positive
responders”
are
responding
positively,
or

what

they
might

be
responding
to.Whichc
trees

are

the
divergent
ones?

You

seem

to

be
advocating
doing
exactly
what

Briffa

- for

good
reason
denied
doing:
tinkering
with
samples
within

a
chronology.

The

http://climateaudit.org/2009/10/07/yamal -and-the-divergence-problem/ 2/19/2010
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cause
of

the
divergence
is a
mystery.
That’s
why
Briffa
had

a

large
grant

to

study

it.

Paul
Posted Oct 7, 2009 at 12:29|§gh|rose

Permalink [#comment-197612]
| Reply [/2009/10/07/yam@l-.

and-the-divergence-probl liker
replytocom=197612#resp
#comment

360325] ,

Yes,

but
which
trees
are
divergent
and
which
ones
are
showing
the
“true
signal”?
It

could

be
argued
that

for
samples
within
the
instrumental
period

http://climateaudit.org/2009/10/07/yamal -and-the-divergence-problem/ 2/19/2010
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one
could

use

a
comparison
to
temperature.
But

that

just

games

the
calibration
process.
The

real

point

of

the
reconstruction
is to

obtain

a
temperature
profile

of

pre-
instrumental
times.

Since

the

reason

that

some

trees

don't
respond

(or

stop
responding)
to
temperature
is

unknown,

it is
possible
that

this

will

also

happen

in

http://climateaudit.org/2009/10/07/yamal -and-the-divergence-problem/
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the

pre-
instrumental
period

as

well

and

not

be
detected.
This

would

lead

a

rational
person

to
conclude
that

such
reconstructions
can’t

be

relied
upon

until

the

reason

for

the
divergence
is
understood.

steven
mosher

Re:

ATHiker
(#23)
[#comment

360325] ,

Hmm,
Posted Oct 7, 2009 at 12:30th1a |
Permalink [#comment-197&edperature
| Reply [/2009/10/07/yareadings
and—the—divergence—proble‘f’ﬁé?
replytocom=197613#resp<?ﬁm:l

some

http://climateaudit.org/2009/10/07/yamal -and-the-divergence-problem/
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thermometers
diverge

from

others.
Remove
them.

One

issue

I

would
think

is

the
problem
of
creating
Cls

after
making
these
kinds

of
choices.
For
example,
what
level

of
divergence
is
divergent
enough
to

be
removed?

I

have

no

issue
whatsover
in
reporting
two
things.

1. A
reconstruction
based

on

all

http://climateaudit.org/2009/10/07/yamal -and-the-divergence-problem/ 2/19/2010
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cores
both
divergent
and

non
divergent.
2. A
reconstruction
based

on

cores

that

don’t
diverge,
where
divergence
is
characterized,
So

for
example,
you

define
ahead

of

time

a
correlation
required

to

be

classed

as

non
divergent.

Is
that
really
hard?
I

just
dont
get
why
people
don't
do
this
stuff
automaticaly.
here

http://climateaudit.org/2009/10/07/yamal -and-the-divergence-problem/
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are
the
results
for

the
entire
population.
here

are

the

core
selection
criteria
we

used.
here

are

the
results
for

those
selection
criteria.
You
wanna
do
something
else

“go
knock
yourself
out”

Posted Oct 7, 2009 at 12:34 pM | bender
Permalink [#comment-197614] pe.
| Reply [/2009/10/07/yamal- steven
and-the-divergence-problem/? mosher
replytocom=197614#respond] (#33)

[#comment

360338] ,
Exactly.

Do
the
test.
Put
it

in
the
SI.

http://climateaudit.org/2009/10/07/yamal -and-the-divergence-problem/ 2/19/2010
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ATHiker

Re:
steven
mosher

(#33)
[#comment
Posted Oct 7, 2009 at 12:37 PM | 360338]
Permalink [#comment-197615] Let
| Reply [/2009/10/07/yamal- see.
and-the-divergence-problem/? Steve

replytocom=197615#respond] 2dds
divergence

tress
to
show
what?
That
Briffa
left
out
divergence
tress
(hiding
the
fact)
Steve
ether
did

not
know
or

did

not
understand
Briffa
Letters
to
Nature
Nature
391,
678

682

(12
February
1998)
Apparently
Briffa

read

his

http://climateaudit.org/2009/10/07/yamal -and-the-divergence-problem/
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own
letter

when

he

did

the
temperature
reconstruction
and

did

not

use
divergence
tress,

but

Steve

did.

How
hard
is

that.

bender

Re:
ATHiker

(#35)
[#comment

360341] ,

Posted Oct 7, 2009 at 12:52 PM | ymmm,
Permalink [#comment-197621]you
| Reply [/2009/10/07/yamal- should
and-the-divergence-problem/? read
replytocom=197621#respond] about

divergence
before
pretending
to
understand
you

know

what
you're
talking
about.
Cherry

picking
samples
to

http://climateaudit.org/2009/10/07/yamal -and-the-divergence-problem/
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suit

your
hypothesis
under

the

guise

of
“removing
divergers”
is

a

very
dicey
proposition
especially
given

the
source

of
divergence
is

not
known.
Which

is

why
Briffa,

in

his

reply,
stated
that

he

did

not
engage

in

that
practice.

ATHiker

Re:
bender

(#40)
[#comment

Posted Oct 7, 2009 at 1:26 pM [200330],

Permalink [#comment-197624]
| Reply [/2009/10/07/yamal-

http://climateaudit.org/2009/10/07/yamal -and-the-divergence-problem/ 2/19/2010
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and-the-divergence-problem/?
replytocom=197624+#respond] Ummm,
you
should
read
about
divergence
before
pretending
to
understand
you
know
what
you're
talking
about.
Cherry

picking
samples
to

suit

your
hypothesis
under

the

guise

of
“removing
divergers”
is

a

very

dicey
proposition
especially
given

the

source

of
divergence
is

not
known.
Which

is

why

Briffa,

in

http://climateaudit.org/2009/10/07/yamal -and-the-divergence-problem/ 2/19/2010
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his
reply,
stated
that
he

did

not
engage
in

that

practice.

Briffa

did
temperature
reconstruction
using

what

trees

rings.

The

reason

is

to
determine
the
temperature
of

the

past

right.

Not

to
determine
current
temperature
we

have

a

thing

called

a
thermometer.
If

Briffa

put

bad

data

in

that

would

2/19/2010
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be
cherry
picking.
How

do

we
know

if

it

is
divergent
after
mid
20th.
By
definition
if

it

is
divergent
because
it

no

long
map

to
current
temps
per
Nature
letter.

steven

Posted Oct 7, mosher
2009 at 1:41

PM | Re:

Permalink ATHiker
[#comment (#43)
-197627] [#comment

http://climateaudit.org/2009/10/07/yamal -and-the-divergence-problem/

360356] ,

I

would
like

to

see

the
mapping
analysis
both

2/19/2010
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with
and
without
divergent.
To

my
mind
the
critical
choice
would
be

the
degree
of

“divergence”

one
applies,
since

as

we

know

the

tree
response
function
is
dependent
on

many
variables.
Further,
as

noted
before
the

most
extreme
tree

in

the

series
has

a

8

sigma
response.
It's
divergent
too.

An

8

2/19/2010
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sigma
response

is

outside

the

bounds

of
responsiveness.
It's

like
hypersensitive.

Morgan
Posted Oct 7,

2009 at 1:58 R€:
pm | ATHiker

Permalink {#43)
[ #comment [#comment

-197628] -
3603561,

Is

there

a
compelling
reason

to

presume
that

trees

were
significantly
more
accurate
thermometers
in

the

past

than

they

are

today?

Tree

growth
responds

to

factors
other

than
temperature,
and

http://climateaudit.org/2009/10/07/yamal -and-the-divergence-problem/ 2/19/2010
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even
holding

all

else
constant
it

doesn't
respond
linearly
(and
maybe
not

even
monotonically)
to
changes

in
temperature.
This
“other
factors
enter

in”
problem

is

a)

obvious
on

its

face,

and

b)

implied

by

the
existence
of

the
divergence
problem.

But
by
what
logic
do
you
think
these
factors
did
not

2/19/2010
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impact
the
growth
of
trees

in

the
past?
Or

if

they
did
impact
growth
in

the
past,
how
can
one
justify
comparing
a
“cleaned
up”
version
of

the
recent
record
with

a
“dirty”
version
of

the
older
record?

DavelR

Posted Oct 7, R€: .
2009 at 2:04 ATHiker

PM | (#45)
Permalink [ #comment

[#comment -

-197629]360356] ,

How
do
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we
know
if
it
is
divergent
after
mid
20th.
By
definition
if
it
is
divergent
because
it
no
long
map
to
current
temps
per
Nature
letter.

Which

is

a

fair

statement,

with

just

one

glaring

defect.

The

problem

of

divergence

isn’t

that

it

happens

now,

it's

that

it

could

very

2/19/2010
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well

have
happened
to

many

of

the

other
different
trees

used
throughout
the

rest

of

the
reconstruction
and

these
divergences
cannot

be

tested

for

like

they

can

during

the
temperature
period.

If
Briffa
put
bad
data
in
that
would
be
cherry

picking.

Then
you

are
accusing
Briffa

http://climateaudit.org/2009/10/07/yamal -and-the-divergence-problem/ 2/19/2010
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Posted Oct 7, 2009 at 12:46 PM |
Permalink [#comment-197618]
| Reply [/2009/10/07/yamal-

Page 38 of 182

and-the-divergence-problem/? (#33)
replytocom=197618#respond] | #comment

http://climateaudit.org/2009/10/07/yamal -and-the-divergence-problem/

of
cherry
picking
because
it
would
be
impossible
for
him
to
remove
bad
data
from
the
vast
majority
of
the
reconstruction,
which
has
no
temperature
record.

bender

Re:

steven

mosher

360338] ,

The

problem,

mosh,

is

that

politicians,

given

a

choice

among

alternative
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reconstructions,
will
choose
the

most
expedient
datum,
not

the

one

with

the
highest
probability
of

being
correct.
So

the
scientists
try

to
(over?)
constrain
the
politicians
by

taking
away
latitude,
giving
them
just

once
choice
the
reconstruction
that

they
subsequently
market
as
maximum
likelihood
(never
mind

the

bias).
That

is

why

http://climateaudit.org/2009/10/07/yamal -and-the-divergence-problem/ 2/19/2010
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the
establishment
didnt
like
Berger
and
Cubash’s
approach:
“so
many
flavors
to
choose
from;
what
kind

you
like?”
The
reality

is

there
really
are

a
hundred
decisions
to

make

in

a
reconstruction.
Enough
degrees
of
freedom
to

make

an
elephant
wiggle
his

tail

if

that’s
what
you're
into.
“What
you

like

http://climateaudit.org/2009/10/07/yamal -and-the-divergence-problem/ 2/19/2010



Y amal and the Divergence Problem « Climate Audit

Jason
ng\ﬁgd Oct 7, 2009 at 11:15 AM |

TR LA BPRBIE R 7594] |

better:
RCS

or

corridor
method?”

Reply [/2009/10/07/yama| -and-
Therees. a%%g@i%ésws H@Pn? R

el Ber

re

h

Jogmans

n article cal
ange and forest

distribution in the Arctic
[http://www.eoearth.org/article/Climate_change _and

Page 41 of 182

at the Encyclopedia of Earth.
Hantemirov and Shiyatov are
discussed. Here are some

comments from the section on

the Yamal Peninsula:

http://climateaudit.org/2009/10/07/yamal -and-the-divergence-problem/

During the last 1,700
years, forest-tundra
and forest associations
have been primarily
restricted to river
valleys in the southern
part of the Peninsula.
Somewhat more
favorable conditions
occurred from 1200 to
900 BC, from 100 BC
to AD 200 and during
the Medieval Warming
Period (MWP) (AD 700
-1400).

Figure 3 shows the
change in the
proportion of spruce in
forest stands (the
remaining part is all

2/19/2010
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larch). In the first six
centuries, from AD 900
to 1500, the
proportion of spruce
decreased from 22%
to 3-5%. After that,
the percentage of
spruce stabilized in the
range of 7-10%. The
20th century is
characterized by an
increasing percentage
of spruce in forest
stands in the valley of
the River
Khadytayakha, and a
weak northward
advance of the polar
treeline.

J

Reﬂhué/&ﬁ@%’aﬂvﬁﬂz/qoamaingnd—

the-divergence-problem/?

replytogagis iadaratgspond]

population of cores
was available, though,
for some reason, not
used in Briffa et al
2008.

Are you certain that the 120
cores was all from recent times
becasue Briffa’s version used
over 200. If they are only using
120 total, the net result of an
RCS version wouldn’t change
much. Basically it's toms result.

If we know that the hockey stick
in it's current form is absolutely
incorrect, I'm not ready to
accept a new one until we see
data and code.

Also when he said - are not
much old living trees in this
area (in contrast to Polar Urals),

http://climateaudit.org/2009/10/07/yamal -and-the-divergence-problem/
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therefore we used only 17 (not
12) samples from living trees.

Is he indicating that there are 5
missing cores from Briffa’s
version?

ABHkeDct 7, 2009 at 11:23 AM |

PerpralnkHgfE bk /abodt |
Replw éfding &Y Ry ampatianr-

of tHee2dinargreoae-pzbikean/?
repyéetidm=197597 #respond]

PostBeBEer, 2009 at 11:54 AM |

Permaligk [ K PRfIREIEf 1A/ 602]

| Reppy: A0SO R -
and- th@oglg%gggégpagroblem/?
replytoegprmaticr®8rd resread]

for evidence. It's an audit.

Posted OcAT Bit@rat 12:09 PM |

Permalink [#ISQnHQﬁaEr o

| Reply [ yamal-
and-the- d|v problem/?
replytocom-ﬁ?é%% @Sctpé}pd]
#11
Do you have the acid
levels...?

Could you plot the
PH for that period?

I was very nice about
it too!!

%%&7 2009 at 11:36 AM |

-divergence-problem/?
repiAoeSTh: 254598 #respond]
Used the Google translater for
the caption below the Figure 2
in the upcoming paper of

Hantemirov:

Figure 2 — Distribution
of the number of
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samples of wood used
for climate
reconstructions based
on the width of annual
rings (thin line shows
the proportion of
samples from living
trees)

If one looks at the number of
samples in the last century, that
dwindles to near zero, but the
ratio of living trees increases to
100% (from one or a few
trees?)...

i&i@ Oct 7, 2009 at 11 48 AM |

e 200V SPU b [
Jeff Yo (Y E59 IS RIRAED/ ?
reg%%@i 19/601#respond]

For climatic reconstructions
based on the width of annual
rings were used measurements
of trees in 1103: 120 indie

ers series on living larch and
983 on poluiskopaemym,

which amounted to more than
148 thousand rings on trees and
poluiskopaemym

more than 16 thousand rings on
the living. To maintain
uniformity

reconstruction Dendroclimatic
analysis were not included
samples collected north of 68 °
N Distribution of samples in
time

for this type of analysis is
shown in Fig. 2

Harr
Egggged Oct 7, 2009 at 12:00 PM |

Permalink [#comment-197605] |
ReW{}i‘d@@/lO/OWyamal and-

iver nce roblem

ese %‘ee n
e BT
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existence, and the limit is due,
more or less, to cold; and if it
has been warming recently,
then why are the trees living
shorter lives?

PostBI HIK®r 2009 at 12:13 PM |

Permaligk [ﬁs%rﬁsg;r?%?ﬁ{
Py Y774l

| Rep

and-thpr g gesFe-probiemy/?
reply tORPER7 } Wi/ HRARE6h / nature /journal /v391/n6!
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[http://www.nature.com/nature/journal/v391/n66¢

Briffa states that at middle
of the 20th century tree
diverge from temperature
for some unknown
reason

Ferdinand
Engelbeen

Permalink [#com ent 197608] |
Reﬁ?%%% 7/yamal-and-

Sortleardinectigenlzatigrsiblem/?
replytocom=197608#respond]

Figure 3 - Distribution
of the number of
samples of wood used
for the analysis of
abnormal structures in
the annual rings of two
types trees. 1 - Larch,
2 — spruce.

Figure 4 — Correlation
coefficients (bars)
indices width rings and
the average air
temperature for five
days at station
Salekhard. Line with
markers - changes in
air temperature for
five days
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This needs some more
explanation, which is found at
the same page:

Greatest influence on
the growth of annual
rings of larch provided
the air temperature in
the period from 16
June to 30 July.

The correlation
coefficient between the
indices of the width of
annual rings and
average temperature
during this period is
0.71, the proportion of
explainable dispersion
of 58.1%. Therefore,
as prediktanta was
used average
temperature of this
period.

Tree-ring
reconstruction of mean
summer temperature
air (smoothed data)
for the period from
5150 BC (data earlier
periods provided an
insufficient number of
samples) on 2005 AD
presented in Fig. 5.
Data are presented as
deviations the average
for the whole period of
reconstruction of
temperature.

In terms of the study
area the average
summer temperature
(from 16 June to 30
July) in the last 7-odd
thousand years was
about 10 ° C. The
reconstructed
temperature deviations
from this average for
individual years varies
from -2,4 ° (in 1818
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AD) to +4,2 ° C (in
427 BC).

And at last the capture of Fig.5,
the reconstruction:

Figure 5 -
Reconstruction of
summer temperatures
on the Yamal
Peninsula. Data are
presented as
deviations from the
mean value after
smoothing the 50 -,
100 - and 200-year
filters. At the lower
graph the dotted line
shows linear trend of
temperature change
from 5150 BC to 1850
AD

The growth spurt at the end
starts about 1800, together with
the increase in percentage of
living trees. Some coincidence?

Jean S

“some kind of report” seems to

beP@st@%c‘E%HEBB%’HF?Z $9 PM |

P Pk i@??%ﬁ;
e d-
) Pgnf /le(l @?X%ﬁ]} Ieam/7

re@éYéﬁ@@m &Qgﬁ.getm&d]
on 13th of October. Someone
with familiarity with the Russian
PhD system (and good
knowledge of Russian) could
clarify this.

deadwood

Re: Jean S (#30)

egmk [#comment 197673]
| Reply [/2009/10/07/yamal-

http://climateaudit.org/2009/10/07/yamal -and-the-divergence-problem/

Page 47 of 182

2/19/2010



Yamal and the Divergence Problem « Climate Audit Page 48 of 182

and-thGadglerganslates dhéctible?
replytoka@s-of 875 Eomekineef]

paper” as:

Hantemirov Rashit
Migatovich

DYNAMICS OF
VEGETATION WOOD

AND CLIMATE CHANGE
THE NORTH OF WESTERN
SIBERIA IN THE
HOLOCENE

03.00.16 - Ecology
ABSTRACT

dissertation for the degree
Doctor of Biological
Sciences

Ekaterinburg - 2009

PodEdd Oct 9, 2009 at 8:18 AM |
Permaligk [ §& al97782]
| Repfy: orhHr/t al-
and-thé-divergence-problem/?
replytothertdah$eriBaviseppbisd |
an “autoreferat” which is a
very shortened “abstract”
version of the Thesis with
the most important Figs.
When submitting Thesis,
some 50 reprints of the
autoreferat are added and
later distributed among
the people interested (for
e.g., before the defending
of Thesis takes place or
similar)..

mjtlst

Posted Qct 7, 2009 at,12:42 PM
The corridor 'me ﬁo{o |L
el gg,%rgwen LAy
ReRbyid <09/ £049 74 ¥amal-4nd-
intdfe8tipky gsggnce-problem/?
replytocom=197616#respond]
The opening line to the

introduction:

We propose an
experimental method,
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using curvilinear
regressions, called
corridor method, for
dating and building a
global useful signal
based on oak ring
widths in northern and
eastern France. The
resulting signal seems
to be more useful than
others to progress in
the domains of ancient
climate and ancient
environments:
dendrodating,
dendroclimatology,
dendroecology and, of
course, human history
(Lambert, 2002,
Houbrechts and
Lambert, 2004,
Durost, 2005).

One quote in regards to site
selection and size in relation to
this particular paper:

...The necessary
starting condition was
to find enough sites or
better, sectors — which
group several sites -
for a sufficiently long
period (minimum 500
years) and for each
sector to be able to
build comparable data.
It is very rare to find
long ring chronologies
and long enough
meteorological records
for the same location.
The
dendrochronological
information in
particular is spread
over a large area but
the internal structure
of this area changes
with time:
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buildings or sites used
several times rarely
give data over a long
time and none of them
give information for
the whole of the period
in question. Precise
maps of known areas
change from a century
to another. As a result,
site chronologies are
not adequate to work
from withsuch a
process. We were
therefore led to
consider theoretical
spaces, which yield
dendrochronological
and meteorological
records...

Robert

We all know that when wood
dies, then ages, it becomes
more dense. This is most of the
reason a Stradivarius sounds
better than a modern violin of
even the most competent

mBesiesiQgte/, 2009 at 12:42 PM |
Permalink [ #comment-197617] |

Reply [,Eéﬁﬁﬁ:flO/OWyamal -and-

and- thﬂﬂéﬁ@ﬁéﬁﬂ@ﬂ&%’

replytogeas=d/diédl Adrregprad]
little ice age. Would you
like areference?

bender

Posted Oc E( zl
Permalmk hé;g%%g&l #%g
| Reply [/ p yamal-
and-the-divergens: Brobigrmé?
replytocom 8428 AficRSp aitsHe
latewood than

earlywood in a
narrow ring and
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latewood is higher in
lignin, which is what
gives wood its
density and dark

color.
jae
Posted Oct 7, 2&&)9 t 2:42 PM |
Permalink [#commgnts 38]

| Reply [/2009
and-the-diverge Ty RIeREm ?
replytocom=197638%rt&spond]

The
rings
are
denser
because
there’s
more
latewood
than
earlywood
ina
narrow
ring

and
latewood
is

higher
in

lignin,
which

is

what
gives
wood

its
density
and
dark
color.

The first part is
true, the
second part is
not. The
density and
dark color are
due to smaller
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lumen
diameters. The
density of the
cell wall, itself,
is constant at
about 1.5 g/cc.

Posted Oct 7, 2009 abendet |

Permalink [#commentR]é?%Q_gO]

| Reply [/2009/10/0%
and-the-divergence-pfg ent
replytocom=197640+#respond]

360376] ,
The

lumens
are
smaller
because
the cell
walls are
thicker
because
they've
got more
lignin in
them.

Posted Oct 7, 2009 at 2:46IA€ |
Permalink [#comment-197641]

| Reply [/2009/10/07/yapehder
and-the-divergence-probl

replytocom=197641#respgatbmment

360379] ,
NO,

unless

you

can
produce

a
reference!

PodR® Oct 7, 2009 at 2:23 PM |

Permaligk [ R6BEHNERSBNO 7633 ]
| Repfy botf] 2aal-
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and-the-divergence-problem/?

replytocom=wR7Zh3avénesmsnd ]
when wood dies,
then ages, it
becomes more
dense. This is
most of the
reason a
Stradivarius
sounds better
than a modern
violin of even the
most competent
manufacture.

Naw.

[http://www.plosone.org/article/info:doi%
2F10.1371%
2Fjournal.pone.0002554]

Posted OBeNABYY at 2:42 PM |
Permalink [#gommenkgl/639]
| Reply [/ yamal-

and—the—div‘g problem/?

replytocomf_%g@spond]
heavily lignified
earlywood samples
(with thinner annual
rings) transmit sound
better. Ever tried
building with yellow
pine from Georgia?
The nails pop out. I'll
take spruce from
Maine any day.

Geoff
Sherrington

Re: Robert (#38)
[#comment-360344] ,

Posted Ocipfe 30w M |
Permalink [# G@BANRBETIAES 77 ]
| Reply [/20K¥ 3666, /tyamal-
and-the-divergence-problem/?
replytocom=197677#respond]
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becomes more
dense.

In the references to this

paper on violins

http: //www.plosone.org/article/info:doi%
2F10.1371%

2Fjournal.pone.0002554
[http://www.plosone.org/article/info:doi%
2F10.1371%
2Fjournal.pone.0002554]
there is ref 23 Eriksson K-
EL, Blanchette RA, Ander P
(1990) Microbial and
Enzymatic Degradation of
Wood and Wood
Components. New York:
Springer-Verlag.

they place importance on
biological mechanisms
post-death, including
assistance from water
immersion. In the photos
shown from around Yamal,
some of the dead trees
have been undercut by
streams, thus increasing
the probability of greater
immersion. This is a
mechanism by which dead
trees might give different
results to live trees. Fungi,
etc, as I have noted
elsewhere, are more
important than discussions
would seem to indicate.

Re: ATHiker (#12)
[#comment-360299] ,
Sulphur is a mid-level
nutrient that can limit the
yield of native plants. It is
documented that industrial
S0O2 can increase yield.
Many references, see

http: //www.sciencedirect.com/science?
ob=ArticleURL& udi=B6VB5
-4037PMP-

N& user=10& rdoc=1& fmt=&_orig=search&_soi
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[http://www.sciencedirect.com/science?
ob=ArticleURL& udi=B6VB5

-4037PMP-

N& user=10& rdoc=1& fmt=& orig=search& sori

It would be hard to
backdate the sulphur
record because there are
many acid/alkaline
mechanisms in nature,
including volcanos with a
high SO2 yield. So SO2 is
just another unknown
variable from the past, but
one with a reasonable
chance of having affected
growth in ways we cannot
reconstruct. We cannot
reconstruct if S or another
element was limiting
growth of a tree at some
place in the past.

These are but diversions.
As Prof Briffa wrote,"The
cause of this increasing
insensitivity of wood
density to temperature
changes is not known,”

Until it becomes known,
we are must accept Re:
bender (#32)
[#comment-360336] ,

“On what basis
do you remove
the “divergers”?
You don't know
why there is
some divergence
or what
trajectory they're
diverging from.”

This statement, of course,
applies to past and
present.
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Logic indicates that if you
cannot relate tree ring
properties to measured
temperatures in a
predictive manner
(without extraordinary
contortions and weak
correlations) then you do
not have a method.

Molg&ied Oct 7, 2009 at 1:18 PM |
perk@R8K [#comment-197622] |

Reply Hile Ol (35U /iy avRah-96d -

lookhet-als(sfgssiceraes; iy @nd6?

repdytbunomif tS76 d2émespeted |
or a diverger?

mpaMled Oct 7, 2009 at 1:20 PM |

PeralnE JAeRMMAN EulkA®g 3] |

Reploliiag &% 3 @éhperatnmd-and-
recohstrdiotisig asieer fe &P/ ?

repOPtasaproky /b BobHawsfindidg
a divergence problem since
about 2001. However, I've
discovered that many of the
component stocks that make up
the S&P 500 are not good
temperature responders...
actually, most of the
components are not good
responders. However, I've
found at least 6 of the 500
stocks that are good
responders. Google in particular
is an excellent responder. Once
I eliminate all the non-
responders, my reconstruction
will be remarkably robust.

thomas
hin®sted Oct 7, 2009 at 1:30 PM |
Perfintitpk [/AAcowWumes pade/6arn)tthomashinelink]

Rerly ér%%‘? Y 9&% fRdr Q%ibafl
reEHé(tcﬂGeFBenJc% é@é%ﬁ%ﬁﬁ@nd]

truth, and what to discard?
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Can someone correct me if I'm
wrong, but is the CRU
temperature that is being used
to “test” divergence the CRU
global temperature analysis? If
so, then of course there is a
divergence problem because the
“global analysis” is a reification
and not “real” as compared to
local instrumental temperature
record. I must be wrong, I
cannot believe that tree-cores
would be “tuned” to a “global”
metric instead of local
temperature record.

The divergence is real, don't
assume a reified “global” metric
is real and question the trees,
everything except YADO6 seems
to jibe with the local
temperature record.

thomasi oct 7, 2009 at 1:34 PM |
PeiR@ Kk [#comment 197626] |
ttp ’ 5€aCRAthomashinelink]

my%q‘%ﬁf oArellem/?
regﬂyﬁegomﬁd(% reFBerd]
review it is not a “global”
analysis but “full (northern)
hemisphere” - still a reification

(i.e. does not reflect the real
temperature at point locations)!

MilpgNed Oct 7, 2009 at 2:26 PM |

Pergatiakr] #59MR M da i/ Datsel |
Replyat /2 1Q/07/yamal-and-
MicHaet dive papreeatafittdgm/?
repEfesdonsalébaitist#iespond]

bender

Trees can respond to increases
in temperature when they're in
cold places, such as near

treBAREd Qetcpte80% RER BN
Permabrkth#Cea R PdatRA635] |
RefgtiyeH0Rm O tyive e ramgd -
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width erddensiwrisgqing e be/?
rephytiskoan 915 F53.50:9L S el ]
true correlation nowadays is 0.2
to 0.3 and you choose your
samples to artificially bias that
number upwards, to say 0.4 or
0.5 (or higher!), then you are
going to disappear the MWP
through biased selection alone.

Sure, if the tree response is
nonlinear (inverted U) and on
some sites you are now on the
backside of the curve, then you
will have some negative
responders in your sample. But
you can't just get rid of them
and pretend the response is
lienar — because it's the same
negative response that would
have occurred in warmer times
- only possibly more severely!

Read the blog. Read about the
MWP megadroughts.

I expect that the positive uptick
responders are, as mosher
says, not “sensitive”, but
hypersensitive. Increase in
temperature is serving to
increase the sensitive response
to something else. Something in
the soil. Something
rejuvenating. Only Briffa knows
becasue he’s the one with the
research data.

The solution is to bar all
hypersensitive samples until we
know what the heck is going on
with them. This is the very
sensible decision came to by
NAS. Except that's a case where
you have an external cue as to
the who the outliers are - the
stripped bark. No such external
cues for the most influential
trees in the world.
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So we thirst.

EspE&ted Oct 7, 2009 at 2:42 PM |

Perwa%é%gf@f@@#ééo%@ﬂ |
Repdivolui 8 GO P Or sE raphel -and-

the-divergence-problem/?

repAayalngded dhre GIFT<iatafer]

nearby station Ostrov Dikson
and plotted 10-year moving
averages of june to august
temperatures for the period
1930-1994 (appr. where the
graph seems to end?) and got:

Jaeposted Oct 7, 2009 at 2:49 PM |
Permalink [#comment-197642] |
Reply [/20I085Ke)gpyceafroa-and-

the¥@iveripndeyproblem/?
replytocom=197642#respond]

Sitka spruce from the west
coast is the best. IIRC, it is the
strongest wood for it’s weight in
the world.

Jonathan
Dumas

Hi
"Posted Oct 7, 2009 at 2:56 PM |

Permatin kdadl FYRANEBIod 84 4nd

Reflydt 300941 MBiTdstamnal-and-
satidfi@ctiiondirganite Mocbtban/P

regéy fseunneatdodebkse vitetd |
was what I did before we had
blogs as interesting as this one.
So I gave some money today
(in the TIP JAR, upper left
corner), and I want to remind
you that you might want to do
it, too.

I think Mr Mclntyre is retired
and is probably financially
indpendant (I have no idea,
really), but that has nothing to
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do. I do it for the establishment
of a new business model.

MilpgNed Oct 7, 2009 at 3:05 PM |

Permalnkel /60 TUREIRE the/ 64 @l |
Repkispbad HFE 0784 eaeraliand-
StelfeeasliMetgaiiogtatoblem/?
repVidencerde YouGvee ¢ thapond]
Steve places himself in a
horizontal position, oris in a
helpless or defenseless state?

mjblsted oct 7, 2009 at 3:06 PM |

Pergtalipk h &SRR thi/648] |

ReplyriédPP B Msetal-and-
corkélatidry & pasee gproblem/?

refdytmeraborel@@6ihg ¢ flespdhe |
weather station in Salekhard,
which is about 100miles from
the Khadytayakha,
Yadayakhodyyakha and
Tanlovayakha river basins? I
wonder if this station has been
checked for accuracy and
variations due to movement,
UHI etc.

Cold
Lym¥sted Oct 7, 2009 at 3:12 PM |

Perm‘?H%[‘%m%k%ﬁl@Li
Rem'vaifm dinpatie/-and-

|gthﬂ1dl‘fﬁﬂhﬁﬁ problem/?

|n W|dth and maX|mu
density” [http://people.su.se/~hgrud/documents/Tuov

20et%20al%202009.pdf]

Quote:

“If palaeoclimate
reconstructions are to be used
to

test general circulation models,
and constrain the

array of possible futures, there
is no need to spatially

average proxy data and
reproduce the average
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climate over vast areas. These
procedures degrade

the climate signal at all sites
and smooth out potentially
important spatial differences.
General Circulation

Models produce data that are
both spatially

and temporally explicit: so we
can test them using

different palaeoclimate signals
in different places.

The aim should be to maximize
the signal-to-noise

ratio and reconstruct the real
climate of real places.”

Love it.

podlender;, 2009 at 3:13 PM |

Permalig [# PdFL”GﬁQH?Z?51]

| Reppy: LEZNRAOAS -5‘13'
and- thﬁn@l"{/gﬁgﬁg r&rQ\' RTEMi2
replytogepraath 16 phifdigrrond]

Ferdinand

Engelbeen

[http://www.ferdinand

- Posted Oct 7, 2009 at 3:58 PM |
Pererrtjekbleépobafient-197655] |
Reﬁlycv /2009f/t]hO/Q7‘4¥amal -and-

re@f%&%g?%g sﬁ%@iﬁ%@wd]

number of samples in 1900
starts with about 20, but
declines thereafter. Maybe the
same 17 (or 12 - 5) trees,
including YADO6... That indeed
would show that Briffa can be
repeated... if you use the same
few trees!

Anyway, it is sure that
Hantemirov used RCS to adjust
the curve for age, but that
introduces a start and end bias:
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To address the age
trend was used as a
method regional
curves (Briffa et al.,
1992), which
maintains the
distinction between the
growth rate of trees
that existed in various
climatic epoch, ie
identifies long-term
fluctuations increase,
exceeding the lifetime
of individual trees.

And the data were used by
Briffa:

used in the analysis
patterns of
temperature changes
in the northern
hemisphere and
evaluation current
climate trends to make
recommendations
authorities (Briffa,
2000; ACIA, 2005).

And he noted differences in
growth pattern between living
and dead trees...

Harry
Eagasted Oct 7, 2009 at 4:45 PM |

Permallnk(g#comment 197656]

Repl n¥
o i g

that goes past about 1950 is
worthless, whether the pre-
1950 graphs have value or not.

However, his take does raise
yet another question. Are we to
suppose that “fungus, bugs”
have only arrived at Yamal in
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the past 60 years and were

unimportant at every other time

in the past millenium?

PodieNd@&r7, 2009 at 5:52 PM |
Permalinls [ SRR BSGhH (¥
| Reppy, LA 4@3116'-
and-the- dlvergence problem/?
replytocom= 197659#respond]

Po

Are we to
suppose that
“fungus, bugs”
have only arrived
at Yamal in the
past 60 years
and were
unimportant at
every other time
in the past
millenium?

May I rephrase your
question along a more
productive line of inquiry?
Given that North American
larch have suffered from
massive outbreaks of larch
sawfly in the past, what
would happen if we
attempted to reconstruct
insect outbreaks using
standard methods
accepted by dendros? Is
there any historical
evidence of outbreaks in
the tree rings - even
though these areas might
presently be too cold to
support insect
populations?

Now your good question

has some positive
direction.

steve

n
smgfq‘cé; 2009 at 8:18 PM |
Permalink | # omment 197672]

| RepRe [ Hairy /k

[#comment3604131
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and—théediaévgénﬁehprhﬂadiGm/?

replytoiftanestiog @iers efswerrkd |
to truncate all cores to
1950.

Daw&ided Oct 7, 2009 at 4:46 PM |

Perphditpk f/fiomement-197657] |

Reﬁ'w.%%ﬁ e érﬂnd'

for tRE ifHe ) G%d

re@dv@@éqmesl&mﬁz %é@ﬁp&ﬁa]
patterns that sharply contrast
with the deciduous trees in
Central Alaska. I was informed
that the spruce grew in areas
with permafrost, whereas the
deciduous trees grew where
there wasn’t permafrost. I
understand that larch trees are
deciduous, so when the study
lists spruce and larch trees,
does this also relate to
permafrost versus no
permafrost?

mjtlst

After reading all the back and

forth its getting harder to keep

tragsspéadlbthe, issnesathiato PM |
Perptemas] incingmeringl 9y esd] |
Repl§V D60 92 RERGY HErRIgER d-

PICYY{E-divergence-problem/?

rERRY tOLORTAY o 3BER SRR d]

the issues are:

* The Yamal data set diverges
from other nearby proxies,
Schweingruber network and
Polar Urals, this is not a
temperature issue but a
divergence of proxies issue.

* The Yamal study may have
been contrary to Briffa’s own
guidelines in regards to sample
size in the use of RCS

* Briffa suggests that Steve
offers no valid reason to choose
Schweingruber over Yamal and
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further doesn’t properly weight
Yamal when the studies are
combined.

* The corridor method was used
by H&S in their study and they
correlated with Sale(k)hard
temperature data.

* We're not quite sure what
data was sent to Briffa and
whether it was pre-correlated or
raw.

* One specific tree YD06 skews
the Yamal results heavily
toward a hockey stick

* The Yamal Study itself
influences others and further
skews them toward a hockey
stick shape.

* Some have suggested that
modern temperature correlation
is a valid method to determine
the validity of the study,
although Briffa himself does not
say this and further states he
did not cherry pick data to
reflect this.

* Lucy Skywalker and Jeff ID
have shown that the Yamal
Study diverges from the
temperature data at Salehard,
although Schweingruber has not
been checked for modern
temperature correlation at
Salehard.

* Previous issues have arisen
regarding the accuracy of
Soviet/Russian temperature
data due to data loss, potential
UHI issues and other bias.

* Without the Yamal study,
there are no major studies (that
are free of their own issues)
that reflect the current rise in
temperatures as
unprecedented.

What am I missing or where did
I get it wrong?

Thanks
MIT
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Good

Captain
Postec?'é)ct 7, 2009 at 6:08 PM |

PermaliRe :[ hdblst(@#?9)97660 ]
| Reply# E6H0 610 AGDA/EM 51 -
and—the—divergence—problemé?

replytold /M E18Y eRs e ves 6 1hg

resultant dialogue
resulting from today’s
post, I applaud your
summary of today’s
“proceedings”. Although
you're re-call is much
better than mine, I would
add the following subject
matter at some point
(assuming my own
takeaway isn’t otherwise
flawed):

“During the
second half of the
twentieth
century, the
decadal-scale
trends in wood
density and
summer
temperatures
have increasingly
diverged as wood
density has
progressively
fallen...” and that,
“The cause of
this increasing
insensitivity of
wood density to
temperature
changes is not
known, but if it is
not taken into
account in
dendroclimatic
reconstructions,
past
temperatures
could be
overestimated.”
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(Per Hiker’s claim) Briffa’s
statement above provides
an appropriate basis for
his use of an admittedly
small sample size used in
the study; trees not
appropriately “'sensitive”
to warming climatic
circumstances would
inappropriately skew
results obfuscating actual
climate conditions.

(Counter-point by Bender,
et. al.) Briffa’s small
sample size having culled
alleged “non-sensitive”
trees from the data set is
inappropriate as currently
understood. Furthermore,
the attempted correlation
of two factors (tree-ring
density to temperature)
has not and cannot isolate
all other potential factors
sufficiently in his efforts
(i.e., assumes those trees
he views as appropriately
“sensitive” themselves are
not otherwise biased by
factors not necessarily
related to climatic change
leading to a false positive
finding — the YDO6 tree
comes to mind).

mjtlst
Posted Oct 7, 2009 at 11:53 PM |

Permalink [#%%
| Reply [/2&0* LOFSLIPIRAL
and-the-divergefée: roblem/7

replytocom TT@%{’% dDond]

ommen
Captain. In regards
to your addition, I
would agree that is
also part of the
issue. In a previous
topic though, in
regards to Briffa’s
upcoming exploration
of that issue, I was
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concerned that the
base assumption of
that may be flawed.
Consideration should
be given to the issue
of whether the
methodology in
determining the
sensisitivity is
accurate before you
can make the
statement about the
trees becoming
increasingly
insensitive. If your
methodology is not
separating the signal
from the noise
correctly, its hard to
make a
determination of the
trend of that signal.
Specifically to Yamal,
if it statistically
inappropriate to use
RCS on such a small
sample size, then all
arguments on
whether its
appropriate to cull or
not to cull are moot
due to the flawed
methodology in the
first place.

It certainly keeps the
brain exercised
doesn’t it?

MikeN

Not bad mijt.

However, H&S I don’t know if
they used Salehard in their
2002 paper. The 2009 paper
does reference Salehard. It is in

R e
Perdy éoglo 950 it] |
RS DA FR A 20
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Lucthkaviévehoene@erpnoblem/?
regyitelad ="ty bEn A rdtpyered

this later.

mjtlst

Re: MikeN (#82)
[#comment-360425] ,

Hey MikeN I was referring
specifically to this post

PostElFREDY, JIHI R 9M e |

Permalink [#comment-197675]

| Reply [/268@hE0dboHrdaraal-
and-the-diverg&aoeipyebliésn/?
replytocom=thempgmgterspond]
record is
strikingly
different from the
treering record.
And since the
pattern at
Salehard is
backed up by
Murmansk,
Bjgrngya, Vardg,
Kanin Nos,
Turuhansk,
Ostrov Dikson,
Ostrov Vize, and
Hatanga, it
seems
reasonable to
conclude that the
Yamal treering
record is the one
that is suspect.

http://noconsensus.wordpress.com/2009/09/25/

-yamal-delinquent-
treering-records

[http://noconsensus.wordpress.com/2009/09/25/c
-yamal-delinquent-
treering-records/]

Did you mean that I
misunderstood this as a
statement to correlation or
that what they have
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written is not altogether
accurate?

Also you may be right in
regards to the 2002 vs
2009 and the use of
Salehard. I haven't been
able to see a copy of the
2002 paper so it may only
be referenced in 09.

From Ferdinands
translation above...

Figure 4 -
Correlation
coefficients
(bars) indices
width rings and
the average air
temperature for
five days at
station
Salekhard. Line
with markers -
changes in air
temperature for
five days

Ferdinand

Engelbeen
[http://www.ferdinand

engelbeen.beé |
Posted Oct §;, at 3:07 AM |

Permalink [#Rernmijtlst {#D6)O |
| Reply [/4GDMOA8ATyamal-
and-the-divabftc®]l problem/?

replytocom=197679+#respond]
Hantemirov used

even a smaller
subset of the
Salehard summer
temperature record,
see page 18, fig. 4,
where he calculates
the best fit
correlation between
ring width and 5-
days temperature
intervals. As he
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found the best fit for
the 16 June - 30 July
period, he used
these temperatures
to compare with the
tree ring widths from
living trees in first
instance and further
back for all trees.

So we need the daily
temperature record
of Salehard to make
a check possible.

But even if that fits,
what to do with the
discrepancy in
growth pattern
between living and
dead trees (no
matter if that is
caused by real
changes in
temperature regime
or after dead
biochemical
changes)?

From page 14 (some
messy translation by
Google, but the
essence is clear!):

Next to
assess
patterns of
tree growth
in height
were used
data on the
growth of
13 living
and 13
poluiskopaemyh
model
trees. There
was a very
high
correlation
between
growth of
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tree
diameter
(at a height
of 0,2 m)
and height
(correlation
coefficient
= 0.97). It
was found
differences
in the
patterns of
the growth
of modern
trees and
those that
grew in the
past.

This seems to point
to post-dead changes
in diameter/height
ratio...

Dean

Re: Ferdinand
Engelbeen
(#101)
Posted Oct 8, 2Pftehtraé i |
Permalink [#comrBe04e/683]
| Reply [/2009/10/07/yamal-
and-the-divergef@sdprasisiem/?

replytocom= 197?8;\;#{%5 98\9]

really implying
that tree rings
are most
sensitive to
temperatures
during a half-
month period of
the year? If so,
then isn't it
more an
indicator of
weather and
NOT of climate?
In other words,
how do you
remove an

http://climateaudit.org/2009/10/07/yamal -and-the-divergence-problem/

Page 72 of 182

2/19/2010



Yamal and the Divergence Problem « Climate Audit Page 73 of 182

anomalous
warm spring
week from the
climate signal
without
knowing ahead
of time what
the
temperatures
were?

Itis an
interesting
theory, if that's
what he’s
proposing. And
it kind of makes
sense in that
plants do
exhibit an early
spring growth
spurt. Now
whether it's
real or not is a
completely
different
matter.

Nick
Stokes
Posted Oct 8, 2009 at 6:53 AM |
Permalink [#commentR&9
| Reply [/2009/10/0$EKI2Y -
and-the-divergence- ent
replytocom=197685#%e%pond]
360480],

Briffa2008
refers to
correlation
studies,
and says

While
noting
the
probable
sensitivity
of

the
results

to
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the
particular
analysis
period
(Esper

et

al.

2005),

it

is

still
apparent
that

the
optimum
sensitivity
in
Fennoscandia,
is

to

July

and
August
temperatures.
In

Yamal,
the
season

is
somewhat
earlier,

in

June

and

July,
whereas
in

Avam
Taimyr,
only
warm
July
temperatures
exert

a

clear
positive
growth
influence.
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Proxies
aren’t
perfect,

but
there

's

not much

else.

Ferdinand

Engelbeen
Posted Oct 8, 2009 af BiZp Aiwww.ferdinand

Permalink [ #comment-197699]
| Reply [/2009/10/0&ngetbaken.be/]

and—the—divergence—pﬁgblﬁgﬁa/?

repIytocom=197699#E$'§|:E

I

[#comment

360480] ,

Dean

http://climateaudit.org/2009/10/07/yamal -and-the-divergence

Is
Hantemiroyv
really
implying
that
tree
rings
are
most
sensitive
to
temperatures
during

a

half
month
period
of

the
year?

If

so,

then
isn't

it

more

an

-problem/

Page 75 of 182

2/19/2010



Y amal and the Divergence Problem « Climate Audit

indicator
of
weather
and
NOT

of
climate?
In

other
words,
how

do

you
remove
an
anomalous
warm
spring
week
from
the
climate
signal
without
knowing
ahead
of

time
what
the

temperatures

were?

Indeed:

Tree

ring

reconstruction

of
mean
summer

temperature

air
(smoothed
data)

for

the

period
from

http://climateaudit.org/2009/10/07/yamal -and-the-divergence-problem/

Page 76 of 182

2/19/2010



Y amal and the Divergence Problem « Climate Audit

Page 77 of 182

5150

BC

(data
earlier
periods
provided
an
insufficient
number
of
samples)
on

2005

AD
presented
in

Fig.

5.

Data

are
presented
as
deviations
the
average
for

the

whole
period

of
reconstruction
of
temperature.
In

terms

of

the

study
area

the
average
summer
temperature
(from

16

June

to

30

July)

in

the

last
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Page 78 of 182

7

odd
thousand
years

was

about

10

[o]

C.

The
reconstructed
temperature
deviations

from

this
average
for
individual
years
varies
from

2,4
(o]

(in
1818
AD)
to
+4,2
(o]

C
(in
427
BC).

Thus the
whole
reconstruction
reflects a
part of
the
summer
at Yamal.
No matter
if the rest
of the
summer
was
warmer,
colder,
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dryer,
wetter, or
the rest of
the year
had
complete
different
weather in
some
periods
than other
periods.
Thus even
if there is
a
hockeystick
in the 1.5
months
temperature
trend
used, the
total
summer
or yearly
averages
may be
just flat...

Don’t
know of
East of
Ural
climate,
but North
Russia up
to the
Urals is
under
influence
of the
NAO: with
a positive
NAO
(since
1976),
winters
are
warmer
and
wetter,
reducing
the winter
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Page 80 of 182

-summer
difference,
but give a
jump of

+2 degr.C

in yearly
average
temperature
in
Fennoscandia
and North
Russia,

while
summer
temperatures
may be
equal (but

I didn't

look it up)

Posted Oct 8, 2009 at 10:26 AFNMAer
Permalink [#comment-197Re3]
| Reply [/2009/10/07/yafestdinand
and-the-divergence-problcEngelbeen
replytocom=197713#respd#d19)

[#comment

360513] ,
The

Yamal
peninsula
is as
likely

to

be a
climatic
outlier
vis a

vis

the
Arctic

as

the
Antarctic
peninsula
is in

the
Antarctic

despite

http://climateaudit.org/2009/10/07/yamal -and-the-divergence-problem/ 2/19/2010



Y amal and the Divergence Problem « Climate Audit

what

Steig

et

al’s
distorted
graphics
show.
Anyone
with

facts
suggesting
otherwise?

Posted Oct 8, 208L8Y:56 AM |

Permalink [#CcomRenEet i

| Reply [/2009/ERdBeennal-

and-the-divergernger@oyblem/?

replytocom=197 623 #rasieend |
3604657,

Interesting, and
it would seem
to suggest as
you say about
post death
changes,
although it
could other
factors such as
previous
microclimate
changes but I
wonder if he
adjusts for the
differences.

kuhnkat

ATHIKSLH Oct 7, 2009 at 6:50 PM |

Perveplints LtCRIMAAEN bHL PH @Rddd
Repdy {1e 08 ii0adidaaialcamd-
havid eadsedr @e moftu prio&de inée?
rePlyéogenme=i$ k662 #respond]
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I would point out that acid rain
has been greatly reduced, but
not the divergence problem.
Lack of correlation = Red
Herring.

toatysted Oct 7, 2009 at 6:54 PM |

Peraiok ¢ RYY FIESE e 7663] |

ReplyrA2dHi9 td QLR 7/{ ¥8medrnd-
caugre-thigergacebpr aldem/?

reqd ptiocounddrahé 6 st iigynenid |
not consistent with the key
identifying the lines in the
graph’s upper left hand corner.
Which line plots temperature
and which line plots ring
density?

toQdysted Oct 7, 2009 at 6:57 PM |

Pergitigk 1 GSORUMENE 4R (RO A
Rep«yp[ém A0 /8d Yaeaknd-

sentBrcdivietigebaptiproblem/?
replytocom=197664#respond]

SciDog

SO.P&SE db%%?y%%‘?‘-’tﬁé 7dé% EM |
Perm?d'ts‘llé BEE&F
Reply bf 200 HoHIL Zé\@maie@ém
outtbrettil wesgengreproblem/?

reﬁlytocom= 197665#respond]
ttp:/ /deepclimate.org/2009/10/07/let

-the-backpedalling-begin
[http://deepclimate.org/2009/10/07/let
-the-backpedalling-begin/]

How about a nice “never mind”
rather than a long drawn out
backpedal? I suspect this will be
the end of Mclntyre’s 15
minutes.

John
PosMad Oct 7, 2009 at 7:45 PM |

Permalink [#comment-197667]

g ST R

what happened to him.
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He used to comment over
here, but I guess he
decided to start his own
blog where he had more

III

“control.

Also:

However,
Hantemirov also
says that the
results with a
larger population
are very similar
to the Briffa
results - raising
the question of
why the Yamal
results are so
different from
Polar URals and
the
Schweingruber
network - a
question that I'll
ask him.
Hantemirov:

I guess you're not
interested in that.

PostpftOGh 7/ 2009 at 8:01 PM |
Permallnkft#comment 197669]

| RepﬂP [M&yamal—

replytogam; blegs?tﬁg.% e5gend)

None of the conjecture
from DC overrides the
sensitivity test that Steve
M did or that Tom P did
and interpreted completely
backwards. Like Briffa
before them we know little
of what the Russians did
or how they compensated
for age. You people write
about things you do not
understand and then do
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gotchyas that are
transparently silly. Bless
SM and others here for
their patience, because in
my mind you are simply a
waste of time.

kubgpdat oct 7, 2009 at 7:55 PM |
Pergtqw%#comment—l97668] |
Reply [/2009/10/07/yamal-and-
whah ded(t gogeuncternstaindem/?

re camest 2eEs whb HveHsl

ater!!”

You might want to wait until the
new study is also Peer Reviewed
AND Audited!!

Since Deep Climate posts
nothing substantive to correct
SteveM, I don't believe there
will be any backpedaling by
Steve. I wonder where that
leaves you and DeepClimate??

Rongsted Oct 7, 2009 at 8:03 PM |
Pe #comment-197670] |
regbt : e

ond Rl VREY RO GERP FRRIEIBIE

relyiaeamodt et iagpond ]
temperature reconstructions
represent the natural
temperature increase from 1910
to 1945 but not all of them
show the increase from 1975 to
2005. Could it be that the first
increase is genuine and the
second an artefact of the heat
island effect.

Steve: I think that the 2nd
increase is real enough and that
the issue is with tree rings as a
proxy — the divergence
problem.

MikeN
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NoPesttidadygtar,c0aBeatl b4 iAM |
Pereya b | [FgcafiemeharisO7676] |
ReglyhinR GHe /510907 fiyatntize-and-

groyyth-degshdanatcihEbdlem) ?
reEﬂchr@'ﬁHEef@%r vE4PYEdS

some correlation.

The 5 day temperature for the
Russian paper, may be the
same thing Briffa did. He used
pentads, and calculated that
Yamal is correlated to a 10
pentad period from May to July.

Lucy
PosStcy s Flket009 at 2:09 AM |

Page 85 of 182

Permalipktt Y WW\R drdE@dAdtrust.org.uk/Science/Curiol

| Reply [/2009/10/07/yamal-
and- thgedlblem/?
= Con Df

What we need is the CRU
records, and the methods
they have used for UHI
correction etc. Based on
my work with GISS so far,
I'm not impressed with
their UHI corrections. They
jack down start
temperatures instead of
jacking down end
temperatures, and this
leaves an inflated trend,
not a reliable calibrator.
And that’s just “eyeballing
plus”.

Nick
Posted OStH Y9 at 3:46 AM |
Permalink [#commen

What we
need is the
CRU
records,
and the
methods
they have
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used for
UHI
correction
etc.

Do you really expect
UHI corrections to be
an issue around the
Yamal region?

Briffa2008 shows the
correlation of the
Yamal RCS treering
indices with
measured
temperatures in his
Fig 7. As MikeN says,
he uses a pentad
selection, and the
correlation is not bad
(not much HS either
for 20C - it looks
rather different from
Steve’s plot).
Appendix 1 discusses
the temperature
sources, which he
says were mostly
daily data from the
Russian
Meteorological
Service. The
CRUTEM3 gridded
values are also
mentioned.

P

Page 86 of 182

Lucy
Posted Oct 8, zg )9 at 6:17 PM |
Permalink [#comtf e 66 .
-/JWwWW,greenworldtrust.org.uk/Scienc
| Reply [/2009 =

and-the-divergeriea-Nicklem/?

replytocom=1978tekas:spond]
(#102)
[#comment-
360469] ,1
said “UHI etc".
Been working
all day on what
I can access,
because
something is up
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with the GISS
thermometer
record
adjustments,
which does put
suspicion on
CRU as
calibrator.

Jengsled Oct 8, 2009 at 3:39 AM |

Perﬂ?ﬁ”l%érﬁﬁﬁw%é%?éﬁol |

RepJwhé? ARG FARARY breraahgind-
abditethisv@igendiscpseioiem/?

regegos 0orpu A& Gi8E) Brifén oardd]

others in the field, use tree
rings as a measure of
temperature. Yet, looking at
current forests, temperature is
only a very small variable in
determining tree growth rate.
Here, in Sweden, this is
exemplified by trees growing on
Gotland. Gotland is one of the
warmest parts of Sweden. Still,
the trees there are among the
slowest growing and most
dense trees in the entire nation,
while some of my forests in the
sub-arctic regions of northern
Sweden are much faster
growing. The thing that seems
to effect the Gotland growth
rate the most are high winds,
salty air from the surrounding
ocean and lack of rain, which is
not compensated by the large
difference in mean
temperatures compared to
northern Sweden. This leaves
me questioning as to how
anyone can claim to get
accurate temperature records
from tree cores, when they are
obviously so sensitive to other
factors. To me it seems that in
order to be able to claim that a
year of good growth was caused
by high temperature you would
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need to know the specific wind
and rain conditions for that
same year, which makes the
entire field of investigation
moot.

fitceﬂ%rs‘fﬁ Oct 8, 2009 at 3:50 AM |
|r?k{?§7-‘comment—197682] |

Perma
RepBNE/2009/10/07/yamal-and-
the—divergen%e—probl_em/'?
th
e I A Esha
that tree rings were only ever
used for dating and even that
was somewhat difficult when
crossing from live to dead trees.
How the hell you filter all the
climatic factors from each other,
temps, rain, wind etc, I would
like to know.

oRENBY 8, 2009 at 8:46 PM |

P liRe:[ gtephemcrithiidg 7 2 |
| Rep(¥ 1/ P#LOOTYe@mal-
and-th8&d4Z0jenSteqiret| gas)?
replytocery &8/ hEr ¢ sepather]
problem I would like to
bring up and that is
“genetics”. I haven't seen
this word used here nor
any other site that talks
about this field. As we all
know genetics determine a
lot of what and who we
are. The variances show!
Same with all Life. No two
are exactly the same.
Cross Pollination amoung
groups with groups
depending on climate at
the time of fertillization
should be a “big” factor. I
know that a Red Maple
tree grows faster that a
Hard Maple (Sugar)tree.
You can tap a Red Maple
within 8-12 years as
compared to Hard Maple
at 25 to 35 years. I know
for a fact that thru
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genetics a “Super Maple”
was grown and sold. It is
suppose to produce at
least 3% sap. That's 26
gallons of sap to make 1
gallon of syrup. I would
like to see any papers on
this. It would be nice to
know “all” things are being
considered.

Posted OR€NIBH9 at 8:17 AM |
Permalink [#,ggnﬁ’gﬁn gzgq ]
| Reply [ yamal-
and-the- d| problem/?
replvtocomﬁ%%%ﬁﬁg@d]
haven't read the
blog. Read it.

Dawetled Oct 8, 2009 at 6:17 AM |

Perphiipe f/omeiment-197684] |

T V) y

that HerAOYREARBESIRIR]
reR{yiA oV WMedméreasnd]

temperature in central Alaska.
Again with spruce trees. The
authors suggest a relationship
to drought. But perhaps there is
something inherently present in
the metabolism of spruce trees
that favors colder temperatures.

Nature 405, 668-673 (8 June

2000) | doi:10.1038/35015049;

Received 25 August 1999;

Accepted 10 April 2000.

Reduced growth of Alaskan

white spruce in the twentieth

century from temperature-

induced drought stress

Valerie A. Barberl,2,3, Glenn
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http: //www.nature.com/nature/journal/v405/n6787,
[http://www.nature.com/nature/journal/v405/n6787/a
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bender

Generic dendro debate in #106
and #107: move to
unthreaded?

Nick
Stokes

Re: bender (#108)
[#comment-360490] ,
#107 is a quote from
Briffa re Yamal.

bender

postedtt Niskg3takesq Ay |
Permalink [#e%ment 197686] |
Reply [/20097 4815 AR amal-and-
the-H e —ﬁqr:geglem/?
replytoco S % ond]
Posted cEeBadYO €t07 ?I}|
Permalink [ 8]
| Reply [ yamal—

and-the- dly&j'giem@eg@ﬁ@h&emﬁ
replytocommepl9 26w Riesteond ]
has previously
indicated he doesn't
Posted O LIDONRSE: 18 AM |
Permalink [#%ﬁ@ﬁﬁerWOPWﬁ%]
| Reply [/2‘@6‘97‘1@76‘9‘7 a'?ﬁBT—
and-the- dlvgi%SHEét

replytocom ??gptgyespond]

Nick
Stokes

Re: bender

(#110)
[ #comment-

360494] , The

substance of
the comment is
a direct
response,
quoting Briffa,
to #105 (now
104), which in
turn follows

Posted Oct 8, 2009a#4:60. Al |
won’t make any
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Permalink [#comrsanse-ID7692]

| Reply [/2009/i$0A0PMyaay-
and-the-diverger@B@brest /2
replytocom=1978%% t&spond]

Posted Oct 8, 2009 ab®Rndem |

Permalink [#commentlO 4H2R]

| Reply [/2009/10/0g{yRaal-
and-the-divergence-prgilep)/?
replytocom=197695#fgepamchknt

360502] ,
The goal

is not
censorship.
Itisto
focus the
discussion.
Re-read
my last
comment.
If you
introduce
generic
arguments
about the
use of
proxies
you will
distract
discussion
AWAY
from
Yamal,
not focus
in on it.
Steve has
made this
comment
perhaps a
dozen
times in
the last
week.
Read the
blog.

bender
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(#112)
[#comment

360502] ,

Ire-
iterate my
invitation
to make a
specific
Posted Oct 8, 2009 a(p®iA7 AM |
Permalink [#commentab8d696 ]
| Reply [/2009/10/0Y#y@nal-
and-the-divergence-pfySraence
replytocom=197696 #ft nd}
context o
the Briffa
quote that
you seem
to want
cited
here. As it
stands it
seems all
you are
saying is:
“yes,
divergence
is a
problem
in this
case, but
what can
you do?”
If that is
your
material
question,
bring it up
and it can
be
discussed.

mpaul

Re:
bender

(#116)
[#comment
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360507] ,

Ah,

Posted Oct 8, 2009 at 12:30
Permalink [#comment-1977 Y
| Reply [/2009/10/07/yargal-

and-the-divergence-probleimd?

replytocom=197732#respaosit.
Some
of
the
Briffa
supporters
are
arguing
that:
(1)
not
all
trees
are
temperature
responders,
(2)
you
should
only
select
responders
when
doing
a
reconstruction,
(3) a
responder
is
defined
by
its
correlation
to
instrument
data,
(4)
there
is
not
a
divergence
problem
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when

one

only

looks

at
responders.

This

is, of

course,

a

logical
fallacy

in its

very
construction,
IMHO.

Sois

the

topic

‘is

there
really

a
divergence
problem,
aka,

is it
correct
to

cherry
pick’

or

‘what

is

the
source
of

the
divergence
problem,
aka

are

tree
rings
good
temperature
proxies
at

all’?
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bender

Re:

mpaul
(#151)
[#comment

360582] ,
I

Posted Oct 8, 2009 at 12:43 PM | know
Permalink [#comment-197736] exactly
| Reply [/2009/10/07/yamal- what
and-the-divergence-problem/? they're
replytocom=197736#respond]arguing.

What

I

know

is

this:
“presuming
the
consequences”
is

a

logical
error.

If

I

were

to

review

a
dendroclimatological
paper
that

did

this,
they
would
get

a

one
sentence
review.
(Ok,

well

I

would

go

on
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to

explain,
quantitatively,
as

I

have
here,

why

it's

a

problem,
but

they
would

still

face
rejection.)
Until

you

have

an
independent
basis

for
deciding
(1)

which
trees

to

sample

in

a
chronology,
and

(2)

which
chronology
to

include

in

a

climate
reconstruction,
all

must

go

in.

Any
deletions
must

be
reported.
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All
sample
sizes
must

be
reported.
Sampling
error
must

be
reported.
I'm

ok

with
mosher’s
formula:
present
both
biased
and
unbiased
reconstructions.
Sensitivity
analyses
go

in

SI.

All
papers
get

the

same
even
treatment.
[Read
my
reviews
of

Judith
Curry,
Craig
Loehle,
and
others.]
So

I

guess
there

is

no
mystery
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after

all

what
the
topic

is.

The
topic

is

(1)

how

to
handle
data

in

a

paper
and

(2)

how

to
handle
papers
in

a
political
review
process
where
the
data
papers
have
been
mishandled.
i.e.
How

to
avoid
deceiving
people
through
the
torturing
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of
data.

bepgdekd oct 8, 2009 at 7:02 AM |
Pergralinks Bcomment-197687] |
Reply [/2009/10/07/yamal-and-
the-divergence-problem/?
refEHHeeFn=197687 #respond]

OK, let see if I get the point

across.

The problem appears to be that

there is not a problem

(excluding who letting out the

data on time).

Briffa is saying that if you add

trees that are divergent you will

inCpageetO&: &/ rondaREs,7MmArgM |
PerFENK 15 S ROMPIENELIO YB0 QY]
Re&ﬂ WFIVEHRING: 89‘7 5ﬁ'§ 1thd-

CHREIRIL |8ﬁ¥/7

eﬂ?ﬁ%&" o ? r@& RoRd]

little different way. Basically

(yes wrong word I know), Briffa

is saying it and Steve is

showing it.

It also appears that all proxy

data reconstructs are poor

thermometers and that is way

the error bars are so very very

very large here. (Only very

broad general statement came

be made)

http: //www.ncdc.noaa.gov/paleo/pubs/briffa2001 /b
[http://www.ncdc.noaa.gov/paleo/pubs/briffa2001/brif
So someone tell me what is it

that I am missing here?

Please.

Eric

http://terminusest.info
Poste ct g, at 8

Permalink [#comment-197700]
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| RepRe{/ATiker(/BT1d)mal-
and-th g#dioemmpente360:498i/?

replytocom=197700#respond]
I guess the first thing that

I can tell you from looking
at your link is that the
abstract is lying.

From the abstract "The
20th century is clearly
shown by all of the
palaeoseries composites to
be the warmest during this
period.”

After looking at the graph
for all of ten seconds you
can clearly see that the
20th century is not the
warmest in even the
majority of those plotted
palaoseries.

(a)NEUR peaks in 1690;
(c)NSIB peaks between
1400 and 1500; (e)CAS
peaks in 1640; and (i)
ECCA peaks in the 1800’s.

Not only that, but it is
quite obvious that the
temperature record
diverges from the tree ring
records just as often as it
matches up. How you can
base a past reconstruction
on this kind of data is,
well, pure magic.

The headline to that article
should be “Tree Rings
Proven to be Non-
Indicators of Temperature”

Paul
Penrose

Re: ATHiker (#111)
[#comment-360498] ,

Posted Oct 8, 2009 at 10:59 AM |
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Permalink [#comment-197717]

| Reply [/280%%6h0K6he yamal-

and-the-divangenket - dhtieat/?

replytocom=08n7iBgingspond]
here?

You are assuming that the
original data is not
divergent and that the
cores Steve added in his
sensitivity test are. You
have presented no cogent
basis for this assumption.
This has already been
pointed out to you many
times.

bender

Re: Paul Penrose

(3#136)
Posted Oct & cmogaent-44 AM |
Permalink [#866%62ht-197723]
| Reply [/2@@SpdtOudEE e al-
and-the-dive&jlence-problem/?
replytocom=197723#respond]
The trees of “B”
diverge strongly from
those of *S”. You
don’t know why. You
do know that some
portion of the pattern
in Band S is
attributible to
temperature; but
you can be sure it is
no higher than 20-
30% at the very
best, and likely lower
because the trees
are growing only
10% of the time that
the weather is
climating (5 weeks
out of 52). Shoulder
season permafrost
melting might double
that time-span to
20%. If you assume
that the strong
correlation in B is
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more valid than the
weak correlation in S
- by throwing out S
and keeping only B -
then you are building
a strong bias into the
ultimate hypothesis
test - that current
temperatures are
warmer than past.

B=Briffa
S=Schweingruber

Granted, combining
B+S may not provide
the most accurate or
unbiased estimate of
the tree-temperature
correlation. The
question, then, is,
what WILL you do?
Both (1)
scientifically, at the
publication stage,
and (2)
bureaucratically, at
the IPCC assessment
stage? Would a
policy maker NOT be
interested in seeing
all three recons, B,
S, B+S? Should a
scientist endeavor to
figure out ways of
easily communicating
data certainty given
this dilemma of
plurality? mosher
came up with an
answer in a
nanosecond. What's
IPCC’s problem?

ATHiker

Re: bender

Posted Oct 8, 2068.182):00 pM |
Permalink [#comaiEE@MBEMS |

| Reply [/2009/30080A)amal-
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and-the-divergerfiiehprpbkertye

replytocom=197906 fhatshathd
the smallest
error bars. You
could not
correct a false
peer-review
anyone in the
area of the
study would Kill
his career in a
heartbeat!!

Posted Oct 8, 2009 at Pendet |
Permalink [#commentgl97729]

| Reply [/2009/10/0Amyiver -
and-the-divergence-pgghlegy/?
replytocom=197729 #f ggip@mchent

360569] ,

Precisely.

Paul
Posted Oct 8, 2009 at ﬁglélloP |
Permalink [#comment-19/733]

| Reply [/2009/10/03?'a_ma|—

and—the—divergence—p%&%ﬁ-ﬂ?

replytocom=197733#$§§§§4d]
[#comment
360569] ,
That’s just
a form of
post hoc
data
selection.
You need
to have a
priori
selection
criteria if
you want
valid
results
from
these kind
of
statistical
procedures.
Besides,
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there’s no
indication
that Briffa
even
calculated
confidence
intervals
for any of
his
reconstructions.
With
Yamal
they
probably
wouldn’t
mean
much
anyway in
the late
20th
century
due to the
limited
degrees of
freedom.

Posted Oct 8, 2009 at 12:44lpender
Permalink [#comment-197437]
| Reply [/2009/10/07/yampain
and-the-divergence-problePentrose
replytocom=197737 #respq#di52)

[#comment

360583] ,
They're
huge.

steven

Posted Oct 8, 2ai¥s#iel: 29 PM |
Permalink [#commen —19J743]
| Reply [/2009 f al-
and-the-divergentg=problem/?
replytocom=197%423: D

bender. You
made me
remember an
incident in my
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career where I
presented just
such an
analysis. A
chart for the
believers and a
chart for the
fence sitters.
Same data,
different cuts.
With all the
pros and cons
of each choice.
I became a
very unpopular
guy at that
review. Thank
god the VP
said..”lay off
the kid he’s just
plotting data
and doing his
job.” Sad to say
the Phd
candidate I was
doing the
analysis for
decided to pick
the data she
needed for her
thesis to be
accepted. Sad
to say everyone
else got
acknowledgements
in her
publications. It
didn't change
my practice
much to the
consternation
of many
bosses. “what’s
your conclusion
steve?”

hehe: more
data please!
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Coldsted Oct 8, 2009 at 7:50 AM |
perk¥I®Xk [#comment-197691] |

Repivd 4N §éAE Brdbrm aleama-
nottivebeévetig Bieecsideoblem/?
repset oo first fY6E Beiffasgtoald |
1998. AND figure from Espen
(#58)

Tree rings seems to follow this
temperature data but not the
temp data Briffa used.

I am not convinced the
divergence problem is a tree
ring witdh or tree ring density
problem.

It might end up in a CRU
gridded temperature problem.

It is maybe the gridded
temperature that have the
divergence problem.

If Briffa used the gridded
temperatures instead of real
temperatures do we now have
proof of that the gridded are
rigged.

It the tree ring is plotted
against the measured local raw
data is there hardly any
divergence at all. Seem to be a
divergence to the temperature
data that Briffa used. That is
probably a CRU gridded data.

Such a lovely story if the
gridded CRU temperatures are
proved wrong by a CRU
employee.

Naindj

Athiker,

You are right.

So next question:

Is Hustkdchery8s200 A aVEry7 AM |
Perbieiatk Jehepah staietne87894 | |
Repdy (1Y 200/ wOyds7 cpsmmes -2ffichn

withHeeaings haEdhsBEseeny 2

reREBIE gLl hg

val perlod was not
warmer than now?
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ATHiker

Re: Naindj (#114)
[#comment-360504],
Postédidrip@rkddhat they ave|
Permalis®Y[HEcEA sRENE-thITg208 |
| Repﬁﬁﬁ@@'@)ﬂ@@ﬂ%ﬁrﬁal—
and-th —%ﬁ J;Iem/?

replyto{‘Dbegmmng in pond]

proxies only) onIy very
broad general statements
are made yes.

1) Can we affirm with
treerings that the present
warming is unique
proxies? only no!

2) That the medieval
period was not warmer
than now. Proxies only no!
Does climatologist except
the same answer (1 and 2
as no)? They (Majority
would agree) the above
answers are correct.

Ask them if they agree
with the Board on
Atmospheric Sciences and
Climate (BASC) 2006
conclusions?
http://books.nap.edu/openbook.php?

record id=11676&page=4
[http://books.nap.edu/openbook.php?
record id=11676&page=4]

...the committee
finds it plausible
that the Northern
Hemisphere was
warmer during
the last few
decades of the
20th century
than during any
comparable
period over the
preceding
millennium. The
substantial
uncertainties
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currently present
in the
quantitative
assessment of
large-scale
surface
temperature
changes prior to
about A.D. 1600
lower our
confidence in this
conclusion
compared to the
high level of
confidence we
place in the Little
Ice Age cooling
and 20th century
warming. Even
less confidence
can be placed in
the original
conclusions by
Mann et al.
(1999) that “the
1990s are likely
the warmest
decade, and
1998 the
warmest year, in
at least a
millennium”
because the
uncertainties
inherent in
temperature
reconstructions
for individual
years and
decades are
larger than
those for longer
time periods
and because
not all of the
available
proxies record
temperature
information on
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such short
timescales....

It like pocking small hole
into a larger hole.

Posted OctP®N@EY at 10:21 AM |

Permalink [#gQMiPAGkal97712]
| Reply [/2QPB439/07/yamal-
and-the-divesqepsaieneblem/?
replytocom=§95384#respond]
Please stay on the
topic of Yamal
divergence. Generic
questions about
“treemometers” can
go on “unthreaded”.
My apologies for
asking your age
yesterday. Perhaps
language is a barrier.
I had not thought of
that.

bepgderd oct 8, 2009 at 8:08 AM |

Pergpiinkid £ CRINUREREHRE697] |
ReplwstA2869/10/07/yamal-and-
the-divergence-problem/?
renlytocom=197697 #respond]
u
McCulloch
[http://www.econ.ohio

Ztate.edu/ihm/ihm.hth

1'nPaskadiOch8n dRA%IaE R i Ak
Perafating %ﬁﬁf@rﬁt@aﬁ-é@e?ﬁﬁ%] |

RepigrhA? BY8AHD 40 Hlgase Forging-
metifi i yergEnncrama brkaty ?
rebeeroedswered7698#respond]

How do we know how old the

trees are in Briffa’s newly

released Yamal data file at
http://www.cru.uea.ac.uk/cru/people/melvin/PhilTra
[http://www.cru.uea.ac.uk/cru/people/melvin/PhilTran:
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Each core in the file has a start
date and an end date, but do
we know the core reached the
oldest part of the tree? The
person taking the core
presumably aimed for the
center, but often trees grow
lopsided. Even the relatively
symmetrical tree round held by
Michael Mann in the photo
[http://holocene.meteo.psu.edu/Mann/]
on his webpage has off-center
heartwood.

Evidently age is the critical
factor in the RCS
standardization that is central to
much of this discussion. For
example, our friend YADO6 had
an admittedly hunking 28.70
mm ring in 1993, which is
astonishing for any species that
is not bamboo! But skimming
through the Yamal file, lots of
trees had similar rings
throughout the past 2000 years.
In 1611, during the LIA no less,
tree L15581 actually had a
41.30 mm ring!

YADO6's record went back to
1803, or 190 years before its
big ring, while L15581’s went
back to 1574, only 37 years
before its big ring, so maybe
there was an age difference that
means we should interpret
these growth spurts differently.
But how do we know how old
L15581 was in 1574 when its
record started?

Even if dendros can measure
the increasing curvature of the
rings as the bottom of the core
is approached, and can
extrapolate to where the true
center would be, where is this
estimate recorded in the Briffa
file?
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Of course, to the extent that
these “day in the sun” growth
spurts are just due to
competing neighbors being
taken down by old age or
tornadoes, the median age-
adjusted ring size must be a
more representative indicator of
local climate than the mean,
provided the sample size is
large enough to be
representative.

Posl€@Dct 8, 2009 at 8:29 AM |
Permaliik [#comment-197701]

| RepRe [ /HEO Mdd@8ényamal-
and-thexdiyg)JEAESNIXTREHEM/?
replytoggusot]7701#respond]

the median age-
adjusted ring size
must be a more
representative
indicator of local
climate than the
mean, provided
the sample size is
large enough to
be
representative.

I agree, see here
[http://www.climateaudit.org/?
p=7257#comment-

359339] .

Ferdinand
Engelbeen

POSTREHRSY PP iR AY |

Permalink [#comment-197702]

| Reng B P/ Yamal-

and-the-divergence-problem/?

replytoR8nHuMeGablochshond]
(#118) [#comment-

360509] ,
Hu,
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As far as the Google
translation is reliable
(which seems quite good
as a first approach),
Hantemirov says that
extreme rings are not
used, as good as double
rings (caused by a sudden
frost in the growth
season) and “missing”
rings (if there is no
summer at all).

I understand that finding
the real start of the tree
may be important for RCS
growth compensation, but
I am not sure if that gives
a huge error if you are
missing a few years.
Matching the patterns is
used to go back in time,
which also gives the start
date of the tree ring core,
but that indeed may be
wrong missing several
years of the real start of
the tree...

PoMArEA® 2009 at 8:51 AM |

Permalipls [ H GMECEN6ch> 7 7 04]
| Rephy /P PA EBMRremmal-
and-thggljsgagence-problem/?
replytocom=197704+#respond]
In theory, I don't think it
will make a difference to
the RCS standardization
divisors.

I created a curve
described by rw=
A+B*exp(-C*age), A=1,
B=.5, C=.03 going from
age = 1 to age = 159
years. Not surprisingly, a
least squares fit recovered
the parameters.

Then I lopped off the first
19 years, and fit rw=
A+B*exp(-C*age) to the
truncated “rings”, and
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additionally allowed the
“age of the first ring” to
vary freely. It came back
with A=1, B=.283, C=.03,
age at first ring = 1. Even
though the age of the first
ring is completely wrong,
the new parameters
exactly reproduced the
curve described by the
original parameters at true
years 20-159. In other
words, A=1, B=.283,
C=.03 produces a value
for age=1 that is the same
as A=1, B=.5, C=.03
produced for age=20. And
so on down the line.

So basically, subject to
potential complications
arising from the fact that I
was fitting to an error-free
negative exponential while
real trees are real, it looks
like you will end up with
the same set of RCS
divisors on the truncated
series as you would for the
non-truncated series.

McCulloch

[ hiRpFLEARAAR. 9. 8hte38 AM |
Permalink [ #comment-197703] |

Renlyat 2008/ {HPikverrairpnd-

the-divergence-problem/?
re Fy%%%%r%#ig%m #resp »pd]

hanks. Your plot s OWS on
the difference between the
mean and median (“robust”),
however. What does the median
series look like by itself?

The quartiles of the distribution
of age-adjusted ring sizes would
give a useful indication of the
confidence that can be placed
on the median.
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Posl€@Dct 8, 2009 at 8:58 AM |
Permaliik [#comment-197705]

| RepRe [ /HEO Mdd@Bényamal-
and-thexdiyongeAcenitenem/?
replytoggus2t37705#respond]

ts.plot
(robust.yamal$series,col="red”,ylim=c
(0,3),xy.labels=TRUE)

title(*"Robust”

Yamal’)

Dave L

[hER OR8] 5009 at 9:30 AM |

Perimatide rstat@iBaTRIdrd 27 €16 |

Rembdu260id gl o/ Sayasednd-
upar EheliisergeBaub vpratbiem/?

reB19te g subgir0bdat@spond]
available to analyze properly
the divergence? There is no
data about yearly or seasonal
precipitation which could vary
widely per location, there is
mixing of tree species (which
respond differently to “climate”
changes and perhaps non
linearly), no correlations about
tree height and tree diameter
and population density for the
living trees, etc. If the purpose
is to only analyze the statistical
methodology, that may led to
misleading conclusions because
the comparisons are being
made between apples and
oranges.
Now tell me I am way off base
and I will be quiet.

Morgan

PosFt{ec! Oct 8, 2009 at 9:46 AM |
Permalipk - %‘kﬁ%ﬁ%@777]

and- thgoq)lly'@tﬁgﬁ{p(cgqé)roblem/?
replytog@msnitibh/i9 1¢ FrspaBe ]
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about it, just to move it to
the Unthreaded n+?
[http://www.climateaudit.org/?

p=7213] topic.

Post&POM 8, 2009 at 10:05 AM |
Permali@@P¥IBmment-197710]

| Rephe [/BQ\Qé’Lle_&QZ%amal-

and-thexdiyRigRNE3BIEIOT/ ?

replytocom=197710#respond]
Whether right or wrong, I
think the conversation has
evolved in significant part
to include speculation of
non-temperature related
factors affecting Briffa’s
findings. Per Jens and S.
Richards, the question of
whether Briffa’s proxy
(Yamal tree-ring study)
properly and adequately
serves as a valid indicator
of Northern Hemisphere
temperature change is
properly at issue. N.
Stokes indicates that

“Proxies aren’t
perfect, but
there’s not much
else”.

This fact maximizes the
importance that any
proffered proxy be subject
to heightened scrutiny of
the study from top to
bottom.

bender
Posted Oct 8, 2009 at 10:17 AM |

Permahﬁﬁ [%@&@771 1]

S

fact there AREN'T enough
data to “analyze properly”
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the divergence. So you
can drop the “What if”.
The divergence between
the Russian data and
Schweingruber’s is a
serious problem. So it’s
not clear here what you
are protesting. The
divergence is there. It's a
problem. What to do about
it? Great question.

First, maybe it's
something that should
have been discussed more
fully in IPCC 4AR? That
there is this weird problem
(not generic, but
specifically regarding
Yamal) whose
consequences have not
been studied that
introduces large
uncertainties in climate
reconstructions. Second,
canonical studies could do
what mosher suggests:
publish two recons - one
with cherrypicking and one
without. Let the policy
guys decide how they
want to cope with the
uncertainty. Lots of things
could be done if the issue
isn't swept under the rug.
Third, minimize potential
conflicts of interest by
disallowing chapter lead
authors from squashing
reviewer complaints when
those complaints pertain
to their work. Fourth: go
get more data and try to
solve the mystery. Once
you know the cause,
perhaps it’s effects can be
minimized through
statistics or targeted
sampling.

Briffa chose #4. Not a bad
choice at all. But there are
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other things that could be
done as well. Does that
help answer the question?

_ﬁio!ﬂad Oct 8, 2009 at 9: 48 AM |

Re&lvéé%ﬂ %%P%AY&P“@A@H%
the th6oL ¢ SEERCE-Problem
reghyaseir atich/delRtisassrond]

Yamal based on the low
quantity of older trees. I'm of
the opinion that the data in this
case is not what is creating the
huge uptrend but rather a poor
correction factor combined with
the data

PostBeDEeE, 2009 at 10:27 AM |

Permaligk. [fgﬁmzﬁ77 14]
| Reppy: Lol Aisane.
and- th@aq;gl emy/?

replytop@armvé r?chﬁ @ﬁ@@nd]
each? How much
attributable to raw data
vs. how much attributable
to treamtent?

Gordon

I usually just lurk here because
I have only an elementary
knowledge of statistics.
However there is perhaps a
difference between the
statistical analysis that I know
ofPasiedect SigPROLRErHRONAM |
Pemmetihsdctegpynoment-197715] |
Rem clif2t0184id /4t Aoy Feahalnd -
To test-alisaindenbiapiotdatd /?
Bed fen fioyes) the-auplied ]
of heads recorded, repeated one
hundred times and the results
fed into an appropriate
statistical analysis engine, to
test the null hypothesis that the
coin is unbiased, against an
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alternative hypothesis that it is
biased in favour of tails.

However, it seems that if I was
a dendro at Yamal looking to
extract a “signal”, those
outcomes with eight or more
heads would be excluded as
being too noisy, or divergent,or
even “in denial” whereas those
with eight or more tails would
be “signal rich” and given
greater weights.

That the conclusion would be
that the coin is biased in favour
of tails is almost certain and
that the procedure would be not
so much a statistical
experiment, but “an empirical
verification of logical necessity”
is hardly in doubt!

ATHiker

Postré OGdhdioR Y #113445 AM |
Permalipi EdiepRemERE354716]
| Reply [/2009/10/07/yamal-
and-the-diver ense—piEobIem/?
replytocom= ‘%?Sl‘ifﬁ\ﬁgtr%spond]

was a dendro at
Yamal looking to
extract a
“signal”, those
outcomes with
eight or more
heads would be
excluded as
being too noisy,
or divergent,or
even “in denial”
whereas those
with eight or
more tails would
be “signal rich”
and given greater
weights.

What if you could not
make out that it was
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heads or tails? how would
you treat the eight?

(b. ok. Problem is with
speech to text)

Posted OctR®I009 at 11:05 AM |
Permalink [#2omment-197718]

| Reply [/2Q0KtRIkeY yamal-
and-the-diveggessye-problem/?

replytocom = #24miaémespond]
3605497,

If you flip a coin ten
times and can't tell
whether it is a head
or a tail eight of the
times, you can't
make any judgement
about the bias of the
coin from the
remaining two tries.

You would have a
good reason to
question your
methodology.

Good
Captain

Re: Gordon (#134

|#comment—360547! ,
Poste ct g, a : |

Permalink [#comment-197720]
| Reply [/20087¥8707/yamal-

and—the—divéﬁ%}&#ﬁé@ P48y 2
replytocom=% mg mégl:gbnd]

favour of tails is
almost certain
and that the
procedure would
be not so much a
statistical
experiment, but
“an empirical
verification of
logical necessity”
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is hardly in
doubt!

I believe I understand
your point but I have less
faith Briffa’s study has
sucessfully verified his
proxy of tree-ring analysis
to temperature (I know
this is inartfully said). His
winnowing of the sample
towards one end of the
spectrum in search of
“'signal rich” samples
appear to inadequately
discount other potential
factors that may explain
his selected tree-ring data.
Correlation studies
attempt to isolate the
study factors as best they
can, but at the end of the
day, most studies can only
go so far.

I am an AGW skeptic but I
acknowledge my
understanding is far less
than that of many
paticipants on this thread
and that my skepticism
may be misplaced. That
said, the recent series of
posts by Mr. Mclntyre
begining 27 Sept have
played to my skepticism. I
am unaware of the steps
or assumptions made by
Briffa in this study to
appropriately account for
and to potentially exclude
positive bias in the small
sample on which his study
is based. Stated
differently, is his search
for signal rich data (i.e.,
appropriately temperature
sensitive trees) really
stemming substantially or
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even significantly from
increased temperature?

Gogglem oct 8, 2009 at 11:11 AM |
Perpalinkef#comment-197719] |
Reply [/2009/10/07/yamal-and-

Buttttee diroblemorisehptdbem/?
rep3§HuoTRiiae: mofay eurafetailsnd ]

corresponds to the climo

assumption that there is a

temperature signal in the ring

widths. What if there isn't?

Even worse, what if there is a

qualitative, but not quantitative

signal, so that no conclusions
can be drawn about the ratio of

MWP temperatures to 21st

century ones?

ATHiker

TEWERGONRSEROR Ay 11:35 AM |
Permanis ittaftaIg it ért2dn |
Rephye[¢A0P BALS)/ A ddicambéand-

betiveerd (ifeStmmrcdicbaoblem/?

refslgQostHeEdry) Steverasgond]

Briffa? Because of the

divergence Trees from (Briffa’s

letter) it would appear to
increase Steve’s error bars
would increase more so over
time so. This would be a good
point to calculations of the error
bar of Steve’s and compare it
over time with Briffa’s(e. bars)
would it not???

ATHiker

Postpg, PEﬁqﬁP@P%iEdg AM |
Permalink [ CORUNER 74
| Repdp [AZ LAY 3BRI-
and-thgrgjvargence-problem/?

replytothiiwd@d hed#gesd pohk
to calculate the error bars

of Steve’s methods vs.
Briffa.

Morgan
Posted Oct 8. 2009 at 12:00 PM |
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Permalink [#RenAliHiket97726]

| Reply [/A@B¥3D/07/yamal-
and-the-dive#geonamentblem/?
replytocom 3695624 # respond]

It sounds like you're
suggesting that
smaller error bars =
less error = better
estimate.
Unfortunately, the
problem isn't that
simple.

Posted OcEND@D at 12:06 PM |

Permalink [#gQMPRGkal97728]
| Reply [/2@Pf43§/07/yamal-
and-the-divesqepsaieneblem/?
replytocom ?g%ggggifrespond]
ATHiker, that is the
point I made in the
very first comment in
the first thread two
weeks ago. I did the
calculation and sent
the graph it to Steve.
I don't want to post
the R code because it
isn’t turnkey. But I
will tell you this:
there is no question
of the divergence.
And the plot also
shows how unreliable
Briffa’s chronology is.
You are right to
suggest that Briffa
should have done
this himself 10 years
ago. [Steve, did you
check the
"CENSORED"
directory?]

reader
Posted Oct 8, 2009 at 11:40 AM |
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PerNeviaya Zemiyarapred$Ag22] |
ReplP S 200 TeRE (kg -tdeidh
Cane, SLUT¢REY, EPRMNg R3S 8H e

e@?ﬁ&@ 2 {07 i%ifﬁ%rhég) Hhei1

eninsula, w reis
a cold current which circles
counter clockwise around the
Kara Sea. Since Novaya Zemlya
is an extension of the Urals, I
expect it must have an effect on
the weather reaching Yamal P.

nd]

RE Morgan #123,
While-it'strue-that [W]ith an
exponential growth model, all
lopping 19 years off all tree
chronologies does is change the
coefficient by exp(C*19),
leaving the residuals the same.

But the problem is that there is
no reason to think that equal
numbers of years are missing
from each core. If one core is
missing 1 year while another is
missing 50, it could make a big
difference.

Another source of missing rings
would be if the center of the
tree was rotten, as often
happens. Does Briffa’s file
include such trees, or were
these discarded for quality
reasons?

PostMPE9R8 2009 at 12:28 PM |
PermaliRke [ HaoMyoenéchd7731]
| Rep{y# /460 P#EOMeranal-
and-thgelggngence-problem/?
replytocom=197731#respond]
I thought the exponential
was fit to each tree
individually, in which case
this one missing x and
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that one missing y is no
problem. No? Here I run
into my own ignorance
regarding the details of
RCS - my post was based
on that “individual fit”
assumption. An
assumption that seemed
safe, because the method
makes no sense to me
otherwise. If I was wrong
about that, consider my
previous comment
retracted.

BTW, was the exp(C*
[years lopped off]) factor
obvious to you at a glance,
or did you do the math de
novo to find it? Either way,
I appreciate your spelling
it out.

MikkelNd oct 8, 2009 at 12:25 PM |

Perpigtgknl AAQFBIMRSRL WA 49 BHat
ReplyddAe8iRn Y tehasepal-and-
approRitiatergastgopratdem/?

refittibgc@ut=dboyiB Chargeond]
have an impact on the final
chronology humbers?

PostMPBg@® 2009 at 12:33 PM |

Permaligk [ ffiR, 48577351
| Repjy: b ) al-

and-the-divergence-problemy?
replyto¥oumn pdia? iEnS£lemptond |
me. Apologies.

- -

Hu
=§&é@& 8, 2009 at 12:32 PM |

reﬁb’ﬁ@&ﬁ’ 1) ?lQZ 7/&”\41-# IE€§ l%qfl@]
I'll retract what I said in #122
about the sample quartiles
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being a good indicator of
median accuracy, since this
depends heavily on sample size.

Exact confidence intervals for
the true median of the Yamal
data can easily be found using
the binomial distribution with p
= .5. The probability that the m
-th largest value from a sample
of size n is larger than the true
median is equal to the
probability that m-1 or fewer
are less than the true median.
This in turn is binocdf(m-1, n,
.5) in Matlab. With n = 10 as for
Yamal in 1990, this yields

>> [1:10; binocdf((1:10)-1, 10,
.5)]

ans =

1.0000 2.0000 3.0000 4.0000
5.0000 6.0000 7.0000 8.0000
9.0000 10.0000

0.0010 0.0107 0.0547 0.1719
0.3770 0.6230 0.8281 0.9453
0.9893 0.9990

This probability is .025
somewhere between the 2nd
and 3rd smallest observation,
and .975 somewhere between
the 8th and 9th largest. One
can either interpolate somehow
between these observations to
obtain a 95% CI, or else just
conservatively use the 2nd and
9th largest observations as the
95% confidence interval.
Obviously Yamal has a serious
small sample problem in 1990
etc. if its 95% CI extends down
to its 2nd smallest observation!

With a more respectable sample
size, the normal approximation
is adequate. Then a 95% CI for
the true median approximately
covers fraction .5 +/- 1/sqgrt(n)
of the data. This gives (.4, .6)
with n = 100, i.e. the 40th to
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60th empirical percentiles of the
data.

Of course, this is just the
uncertainty surrounding the
median of the observed proxy
series, whatever it measures.
The uncertainty of any derived
temperature reconstruction
would also have to take into
account the uncertainty of the
slope, intercept, and regression
error.

Using the sample median and
sample quantiles to form a CI
mean that logs can be taken
beforehand or afterwards, with
exactly the same results, so
there is no need to worry about
geometric vs arithmetic means,
etc. Also, taking logs of the
occasional 0 ring width (YADO6
itself had one in 1883) would no
longer be an issue, since unless
a substantial number of trees
simultaneously had “0” width,
these would lie outside the CI.

(Since the Yamal data is only
recorded to the nearest 0.1mm,
I would interpret a "0” as
0.05mm or less, and just take
the log of .05mm if necessary.)

RE Gordon #134, Dale S #137,
these numbers show that 2
heads out of 10 flips would
allow you to reject that the coin
was fair (p = .5) with a 5% two
-sided test size, though not
quite with a 2% test size. The 2
-tailed p-value would be 2
(.0107) = .0214.

Pod?@®ct 8, 2009 at 1:27 PM |
Permalifk [#comment-197741]
| RepRe {20 MZdBcnyamal-
and-thé#diss)gehcenpmueniem/?
replyto866568497,741#respond]
I was responding to
ATHiker's #135 comment,
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where the results of 8 of
10 tries were unknown.
With only two remaining
results, no matter what
they were, I don't think
you could reject the fair
coin hypothesis.

How it relates to Yamal in
ATHiker’s mind I'm not so
sure. To make a coin
analogy fit, it seems you'd
need a bunch of Siberian
coins, flip them each ten
times, then use the Yamal
coin because it came up
with 8/10 tails.

Page 127 of 182

Jack
Okie

H&vsted &etsiBPRPHRErE2ofB A1 |
Peromfiok 4 £6OPTEBENEakD. /M3 |
Repiya (ka0 HtEO O hrathreadrand -

thettiigenterere manters tibem/?

repllje Wrhthed Ziineier-650a€ ]
alarms. I last had statistics in
high school, but I'm having

trouble accepting any

conclusions from a sample size
of 17, much less 5 or 10. The
discussion just seems to get
more bizarre; I recently saw an
ad on a website that said “Help
Stop Climate Change”. Don't
know if it was satire or serious.

Re the Stradivarius issue. I
have seen several articles
pointing to the Little Ice Age as
a factor. The latest introduces

an additional factor:

http://dsc.discovery.com/news/2009/09/30/violin

-fungus-wood-02.html

[http://dsc.discovery.com/news/2009/09/30/violin

-fungus-wood-02.html]

Artemus

Posted Oct 8. 2009 at 4:27 PM |

http://climateaudit.org/2009/10/07/yamal -and-the-divergence-problem/

2/19/2010



Yamal and the Divergence Problem « Climate Audit Page 128 of 182

PermaliRke ;[ FaakrOkéan (# PS7PH 8 |
| Rep]y L6060 B6NS589) 3| -

and-th&tdidivagiscdepnsblem/?

replytocannot bejidentified,nd]
from modern
instruments in
controlled blind tests
[http://en.wikipedia.org/wiki/Stradivarius#Controv
fungus treatment used on
the modern instruments or
not. It is folklore.

CupiQus) Oct 8, 2009 at 1:10 PM |

Perpaliskt A HAY INeNBriA /RG] |
Renlyelf 20094/ vaeaal-and-
shothénditteng shew-tho baema/ ?
replytbeoof<d@g739 #respond]

http: //www.climateaudit.org/w

content/uploads/2009/09/count_briffa.gif
[http://www.climateaudit.org/wp

Zontent/uploads/2009/09/count briffa.qif]
http: / /www.climateaudit.org/wp

content/uploads/2009/09/count_hantemirov.qgif
[http://www.climateaudit.org/wp

content/uploads/2009/09/count_hantemirov.gif]
*I'm not speculating, it's a

sincere question, I'd be grateful

if someone could answer.

Songafed Oct 8, 2009 at 1:22 PM |
perMYtdeT #comment-197740] |

Repbet \WEYH4A Q4P dhyastradrand-

proféssali veBietistcs)Fothleyia/ ?

relpéydbleotn adjbdicd etare shisnd |
debate in 5 minutes.

curious

Posted Oct 8. 2009 at 1:28 PM |
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PerG\Tiaky # comidnemtatda/42] |
ReplyE[ X7 0f0 X110 /ooty Ao d<d el -
differentidie isgnide@pi® blem/?
replytocom=197742#respond]

PeEFON oct 8, 2009 at 1:58 PM |
Per%{a:liimkr[#comment—197744] |
Rep y?/3009/10/07/yama|—and—

Arettiergi studjes cerpelabirgm/?
repfidalcoersuerAadet respond]
temperatures and tree ring
sizes, while considering
sensitivity to other important
variables like sunlight, soil
conditions, and rainfall?

If not, this whole discussion is
meaningless.

Important, yes, because huge
political decisions are based on
these assumed correlations, but
meaningless nonetheless.

PoS¥@NOct 8, 2009 at 2:21 PM |
Permali@k [#comment-197747]
| Repl4#R809/10/07/yamal-
and-thrediPergen asf Chad&HM/?
replytoCsne3) J A/cbivmesmond |
360602] , “Are there
studies correlating actual
measured local
temperatures and tree
ring sizes, while
considering sensitivity to
other important variables
like sunlight, soil
conditions, and rainfall?”

And if there were, each of
the variables would
require a proxy
extrapolation backwards
(unless you had a time
machine). Has that been
done?

PoRENEErs 2000 at 2:25 PM |
PermaliRk :[ PELSOMENCHAEF48]
| Rep{y /@) P# LB Mrmatainal-
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and-th8&dlé8Rjence-problem/?

replytotbisis BOgEN8i¢ desydond |
question requiring a
generic response. The
specific response is that to
my knowledge there have
been no controlled
experiments on larch
growing under Yamal-like
conditions to calibrate
responses to Temp, Precip
and interactions between.
But if there are, they
would be in the Russian
literature or possibly even
unpublished. So my lack of
knowledge there means
nothing.

The paucity of such
studies on treeline conifers
in general is, I think, why
the dendros feel they are
justified in giving
themselves wide latitude
to cherry-pick and report
the correlations that
please them. It’s not the
sort of novel experiment
that is going to attract a
lot of academic interest or
funding.

Nevertheless I have come
across a few cases of
controlled experimentation
that address this question
- usually in the context of
trying to explain
fluctuations in treeline in
response to climate
change. I recall seeing one
paper on white spruce in
Canada. It was
temperature, not moisture
that they controlled. But,
to answer your question
squarely, to my knowledge
I don’t know of any
factorial designs that
calibrate the full response.
I am more than happy to
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be corrected by the
experts, however. I saw
“Craig Allen” comment
here yesterday. If he is
Dr. Craig Allen he may
know much better than I
what calibration data
might exist.

It's a topic that has been
discussed many times
before here, more in the
context of Calfornia pine.
But it is just as relevant to
Yamal larch.

Please discuss generic
dendro issues in
“unthreaded”.

CUM@HS] Oct 8, 2009 at 1:59 PM |

Pergltk1l55Co Qe N Hof45] |

Reprbil b0R/d DR Ky anpisans -
valithasslivvesgemn ceaptdlem/?

registrindion=wdl/Helbitoaspidnd |
Isn't the binomial a distribution
for independent events with
binary outcomes? I'm not sure
how this relates to tree ring
widths from a geographically
colocated sample which are not
independent (accepting the
proposal that they are
responders according to some
to-be-defined physical
relationship to environmental
factors including temp.)
continuous variables? Or is the
proposition that the test is
whether the mean is correct or
not and that is the binomial
event? Sorry if I've got the
wrong end of the stick - long
time since I studied!

McCulloch
[http://www.econ.ohio
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ARSI
Repif CLZ009 A0 THobtadieand-
CO“EH@@W&FQ@%@“B%H]&%Q

reH\‘r’-taggﬁﬁ‘?taﬂé PrABe3a8

in #1 is that no matter w at
the distribution of TR widths is,
the number that are below the
median has a binomial
distribution, provided only that
they are independent draws
from the same distribution.

Of course, if they were pre-
screened for their correlation
with temperature, they would
not be independent. Or if some
were from apple trees and
others from orange trees, they
would not be from the same
distribution. But it doesn't
matter how skewed or heavy-
tailed the distribution is, as long
as we have iid draws from it.

RE Son of Mulder #159,
RomanM js a Professor of
Statistics (retired), at U. New
Brunswick.

[RomanM: I would suggest the
renaming as Curious2 (a little
play on words/numbers) @ ]

Son
of
Mulder
Poﬁgd &%&%49 AM |
permalibE183) LACOm ,,g,,

 RepfiP DRy 1877 o

and-th é ROPAHIEH 7
replytoa% 2 % E’%?Sond]

BrunSW|ck ”

So whichever curious
proxy might like to answer
this question

If there is a real
temperature-tree ring
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signal that is masked by
other signals eg.water,
CO2, sunlight, SO2 etc

1) Do we have a
statistically significant way
of assessing the
temperature sighal from
tree rings over the last
100 years, and so have a
good match to local
thermometer readings?
Thanks.

2) If the answer to 1) is
yes, then what historical
data (proxies) will be
needed to enable the
successful use of other
local trees to act as
statistically significant
proxies for a historical
local temperature
reconstruction? And has
that been done
successfully for Yamal and
all the other areas used in
tree ring based
temperature
reconstructions?

3) In constructing the
global historical average
temperature have my
questions 1) and 2) been
addressed successfully for
each sampled region
where tree rings have
been used?

4)Should I trust tree ring
based historical global
temperature
reconstructions as
reasonable if it should be
that the answers to any of
my questions is No? If so
why?

I need these answers to
stop going round and
round in circles.
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Posted OReNIB9 at 8:26 AM |
Permalink [#€0YBAYF MUidEes]

| Reply [/2GPgg39/07/yamal-
and-the-divesqepsaieneblem/?
replytocom=3§96753#respond]

Should I
trust tree
ring based
historical
global
temperature
reconstructions
as
reasonable
if it should
be that the
answers to
any of my
questions is
No? If so
why?

For the moment I
think you might want
to trust all those
that:

-do not make use of
California bristlecone
pines

-do not make use of
Briffa’s Yamal larch
-plot confidence
intervals using a
reasonably robust
method (not MBH99)

I'm not a very
trustful person,
myself. However
these criteria will
filter out the least
reliable.

Neil

Fisher
Posted Oct 9, 2009 at 10:07 PM |
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Permalink [#RenSormf MUIEAO ]

| Reply [/A@#XD4D/07/yamal-

and-the-dive#geonamentblem/?

replytocoméﬁmfﬂ’ewdghq
add:

Has anyone
developed a
methodology that
enables one to
select, a priori, which
trees respond well to
temperature? And if
so, how reliable is it?

Posted Oct 10, 28@at 5:41 AM |
Permalink [#comi®nt-197802]
| Reply [/2009/M¥}8SYyamal-
and-the-divergemee-NeibRishet
replytocom=197882209spond]
[#comment-
360788] ,
“Has anyone
developed a
methodology
that enables
one to select, a
priori, which
trees respond
well to
temperature?
And if so, how
reliable is it?”

And by
extension so
identifying the
trees that don't
respond to
changes in
CO2, s02,
sunlight, water
etc

That should
narrow the field
(or the forest).
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Cold
Lynx

My original reply have been

St UERTR SISt 0 R 2 |
Perga)inkis HEOBBPNEBS A RifH] |
Replyth/eHeAREGHAY Ay aatal-and-

wortiegdivergence-problem/?
rePUffocom=197749#respond]

The divergence problem seems

not to bee the tree side.

Use the first figure Briffa et al.

1998. AND figure from Espen

(#58)

Tree rings seems to follow this
temperature data provided by
Espen but not the temp data
Briffa used.

I am not convinced the
divergence problem is a tree
ring witdh or tree ring density
problem.

It might end up in a CRU
gridded temperature problem.

It is maybe the gridded
temperature that have the
divergence problem.

If Briffa used the gridded
temperatures instead of real
temperatures do we now have
proof of that the gridded
temperature are rigged
temperatures.

If the tree ring is plotted against
the measured local raw data is
there hardly any divergence at
all.

Seem to be a divergence to the
temperature data that Briffa
used. That is probably a CRU
gridded data.

Conclusion. The divergense
problem is about CRU gridded
temperatures. And now we have
some proof about this.

Such a lovely story if the
gridded CRU temperatures are
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proved to be wrong by a CRU
employee.

CUH@HS] Oct 8, 2009 at 2:42 PM |
Permalinks[ ir Qi AeRdedsid 7501 |
RepledpdiieYahe/ Propeaaal-and-

narbirey doreigiopey problem/?

repppreciated B)7750#respond]

Milsg®ed Oct 8, 2009 at 2:47 PM |

Perng §n ﬁqgaﬁ 549775117 |
Reglh %ﬂ@%/é@ @rﬁﬂaﬁ%’?d'
acttiaiy direetigesaaaroblem/?

reEIytocom 197751 #respond]
+exp(-.693-.03*age)

A+exp(-1.262-.03*age)
A difference of -.57, so an age
of 19.

That eliminates my objection.

AJStrata
[http://www.strata

sphere.com]

EATH&Q@M Oct 8, 2009 at 3:27 PM |
rmallnk #comment 197752]

Repcm U§ 1n4b ié‘?ﬁ%lland;
R

good as tree-mometers. It
proves they cannot even track
the current temperaure record,
let alone be a bridge to the
past. It also means they cannot
be calibrated to distill out a
temp record.

It seems Briff was just lucky at
selecting so many of these
outliers. Truth is, a lager
sample, which had a lot of tree-
mometers that did not diverge
during modern times, would
simply overwhelm those few
broken tree-mometers. That
seems to be what happens
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when you look at the larger
record. And that record shows
no unusual warming.

You don’t have to know ‘why’
the tree-mometer is broken,
just that it cannot measure
temperature changes or that it
reads backwards.

Bender is being a bit obtuse,
and seems ‘unbending’ in his
belief you can’t find and throw
out bad data. Happens all the
time. Bad sensor, bad data, into
the bit bucket.

BTW, to tray and answer your
original question I did not find
any absolute acidic numbers but
I did find some overall numbers
that hint your hunch may have
been a good one. It definitely
deserved more than a sniffy
rejection.

It turns out that Russian trees

do show an increasing growth

problem with acid rain
[http://www.livescience.com/environment/050314_ aci
I assume they have shown ever

weaker growth through smaller

rings, more dense rings.

What this means is acid rain
probably completely obliterate
the temperature signal in trees
for the last 100 years as the
industrial age took off. Which
means these tree ring proxies
are basically useless. If the
industrial revolution obliterated
the link to modern
temperatures (and therefore the
bridge to ancient temps) then
the whole lot should be tossed
as broken proxies.

Additionally, the efforts to
reverse acid rain have actually

been quite successful
[http://en.wikipedia.org/wiki/Acid rain#History of aci
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So much so that we are be
seeing, since 1990 in US at
least, enormous reductions in
S02 emissions. One would
suspect the tree rings would
correspondingly bounce back
over this period of reducing acid
rain strength. That ‘bounce
back’ would have little to
nothing to do with temperature
of course.

I also found this interesting
[http://www.junkscience.com/news/tree
-rings.html] :

On average, tree ring
widths have been
getting wider (and the
global climate warmer)
since the mid-1800s,
before significant
accumulation of
greenhouse gases.

Tree ring widths
peaked in the 1960s,
indicating no increased
growth (and no
increased global
warming) since then.

The problem I have with this
whole mess is people (including
PhDs) see things so linearly
when the world is much more
Fourrier. In that I mean there is
one driver (function) dominating
over one range of parameters
(integral), and another driver
(function) replaces it over the
range. Nature is much more like
this — and biology definitely is if
you look at how hormones and
other governing chemicals can
shift the entire physiological
direction at various levels of the
hormone, as systems are
triggered in and out.
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If I had to speculate on the fact
that tree rings were getting
wider since the Earth was
coming out of the last cool spell,
I would suggest the warmer
temperature (and RESULTING
higher CO2) would obviously
increase the spring wood
production. But the peak in the
1960’s, which fell since, would
seem to indicate to me that
maybe something else took
over.

It seems logical that, as the
industrial revolution spread
across the Earth and humanity
pumped all sorts of chemicals
and particles into the air that
the Earth’s natural ‘scrubbers’
began to saturate and the SO2
levels got to a point they offset
the warming temps and rising
CO2. It is not unreasonable to
see the increasing acid rain over
running the biological response
to warmer temps.

If Bender needs reasonable a
scenario that fits ALL the data
(not those crazy outliers) this is
as good as any. And I left it
open to be proven in the tree
ring record from 1990-present
day. I have not looked to see if
there is a pattern that would
support the theory.

If we see a recent bounce back
in spring wood thickness in
these trees that are in regions
where slight changes in
conditions (like acid rain) can
have major impacts on growth
(more so than in lower latitudes
with more rain, sun, warmth,
nutrients - all the things a tree
needs to fight off mild acid rain
poisoning) then I would claim:

The expansion of the industrial
revolution obliterated the
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temperature signal in the tree
ring data around 1960, making
any correlations between rings
and temps with data after that
time period completely bogus
and useless.

This of course is completely
independent of throwing out
broken tree-mometers which
cannot even detect temperature
changes in the last 50 years.
The theory acid rain broke them
is just that, a theory. Being a
broken tree-mometer is not a
theory but a fact that can be
shown in the divergence.

AlStrata

Dave
PoRardng@enoo9 at 3:43 PM |

Permalink [ K 58(PARS 11 767 >3]
| Reppy: i HAUAS 00672 -
and-the-divergence-probiem/?

replytocom=197753#respond]
If trees diverge in

terms of known
modern
temperatures,
throw them out -
they are clearly
no good as tree-
mometers.

Bender’s right. You're
wrong. A tree is not a
thermometer for one
thing. You can't find
prehistoric glass/mercury
thermometers you can use
as “proxies” for another
thing. Thermometers are
fine in the instrumental
period (though some of
the things done to the
thermometer readings are
not). But since trees have
to be calibrated with
thermometers, you have
to use good statistical
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methods and simply
throwing out trees with
wrong readings is not a
good statistical method.
Until you understand why
that is the case,
everything else you say is
worthless.

Posted OSt8VEM9 at 4:23 PM |
Permalink [#08$R€ENt-197757]

| Reply [/200Da0éDdvdinger
and-the-divegaenoe-problem/?

replytocom= #24itmémespond]
360617] , thanks

dave. the divergence
problem goes to the
heart of calculating
CIs. Suppose that we
resample the
divergers 10 years
from now and find
that they have re
converged.

then what? keep
them? toss them? by
including all the trees
we get the most
conservative ( and
correct in my mind)
CI.

the bottom line is
that good science will
tell us one thing. we
can’t re construct
past temp with a lot
of confidence. in my
mind that has only
tangential import on
the agw debate and
does nothing to blunt
the fundamentals of
radiative physics.

bender
Posted Oct 8, 2009 at 4:42 PM |

Permalink [#%%I

| Reply [/ /07/yamal-
and-the-diverdEheBigsblem/?
replytocom= :
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A paper by Wilmking
et al (2004) cited in
unthreaded would
have you throwing
out 1/3 as negative
responders and 1/3
as no-responders.
Only 1/3 “respond
positively” to
temperature. Does
this sound like a coin
flip to you, Dave?

PoRAVEIRS 2000 at 3:44 PM |

Permalipls:[ ASSfRARS i1 76Y >4
| Repfy: LotRAO58 066 al-

and-the-divergence-problem/?

replytocom =1 97754 fespond]

sample, which
had a lot of tree-
mometers that
did not diverge
during modern
times, would
simply
overwhelm those
few broken tree-
mometers. That
seems to be what
happens when
you look at the
larger record.
And that record
shows no unusual
warming.

How do you determine
which “bad” trees to throw
out from the pre-modern
data samples which cannot
be calibrated to
temperature?

Maybe what is actually
happening in the larger
record is that the signal
from the “good” trees is
being overwhelmed by the
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signal from “bad” trees,
whilst in the present, the
“bad” trees have been
removed, suddenly
revealing a signal from
only “good” trees.

PoBEPEE: 5 2009 at 6:25 PM |
Permalin ?gé%ﬁ%%nent—197767]
| RepRe [ /RIS1Patd) (FA/ZBIal-
and-th g#divenapente360616M/?

replytocom=197767 #respond]
Re acid rain,

Presuming reasonably that
S02 is the main
component, we are facing
another “U” shaped
response. If S was a
limiting nutrient,
increasing acid rain would
increase growth. After a
point, increasing acid rain
would reduce leaf
functions and reduce
growth.

Then as a minor(?) side
issue, the uptake
availability of a number of
other nutrients would be
affected by the pH, in
ways that take quite large
factorial control
experiments to understand
- and which tend to be
specific to the study.

There is a further
underdiscussed possibility.
The properties of tree
rings in general might
alter to seek an optimum
while all around them is
changing. After all, some
mechanism limits plant
species to certain size
ranges, from tiny plants
like the much-studied
Arabidopsis to huge forest
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trees. You can make them

only so large under

optimum conditions,

implying a feedback that

limits growth. Auxins are

one group that have been

implicated. How do we

know if auxins are

temperature levellers or

temperature enhancers in

the tree ring record? e.q.

see
http://jxb.oxfordjournals.org/cqgi/content/full/58
[http://jxb.oxfordjournals.org/cgi/content/full/58/E

suspicious
Posted Oct 8, 2009 at 3:51 PM |

peMénﬁkt*pbéaﬂ?ﬂﬁﬁé\ﬁeNl@e%%]s|

Reflf: Ies .@Q/W@Wénoa' and-
Sl T
rewcbﬁe%qleﬂco e

record low temperatures (eg,
ski resorts opening earlier than
usual, cool summers, colder
winters, etc.). If the Yamal
studies says we had record high
temperatures in the 20th
century based on a relatively
small number of trees in a
relatively small area compared
to the rest of the world, why
can’t one come the opposite
conclusion and say we are now
experiencing much colder
temperatures? After all, which
would one trust more? Trees as
thermometers or real
thermometers? I know there
has been disputes about the
urban island effects but they
can't all be wrong. Besides,
people’s memory of the trend in
the weather is probably a better
measure of long term
temperature patterns than
trees. Also, NASA keeps telling
us the we are having record
high temperatures. Something
is starting to smell in NASA. It
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will be interesting if the
prediction by some that we will
have a cooling period over the
next decade or so becomes
true, yet NASA continues to
keep telling us we are having
record high temperatures, or at
least fails to agree with the real
world experiences. If that
happens then it will seal my
suspicions about them. Time
will tell. Perhaps Steve should
do a divergence analysis on
them as well.

podAHIKES 2009 at 6:57 AM |
Permaligk. [ﬂ%ﬂ"@m&t 1#917774§9]

| Reppy;
and-thgadivg E%W@ﬁ@f‘%?é‘?éﬁ?
replytoge mretdt/16P #osimmand ]
Over the next decade or
two.

Thanks about the SO2
data (others), but we are
back to the same point.
Now how do we proceed?
In other words let’s start
moving on now. We could
keep the trees, do some
with some, and do one
without.

Now what?

John F.
Hultquist

8,2000 at 4:18 PM |

Fe rdo N
T i Sea

the- dlvergence problem/?
reBhytarsure=0f IFIE56GE respond ]

“Greatest influence on the
growth of annual rings of larch
provided the air temperature in
the period from 16 June to 30
July.

The correlation coefficient
between the indices of the width
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of annual rings and average
temperature during this period
is 0.71, the proportion of
explainable dispersion of
58.1%."

I've questions.

One: Is “explainable dispersion”
the same as or similar to the
coefficient of determination, R2,
namely the proportion of
variability in a data set that is
accounted for by the statistical
model? If not, what is it?

Two: In this case it appears, R2
will be 50.4%, so I assume
something is going on here I am
unaware of.

Three: Assuming the 58.1%
“explainable dispersion” is
correct in this matter that I
don't know about - is this
considered poor, good, or
great?

I didn't find an explanation of
explainable dispersion on the
web.

EW

Posted 9ehth FOG9ur§uist\M |
Permalipig { #59 MO rAStL84 ]
| Rep%UM/lO/OWyamal—
and-thaddéxplaagsreroblem/?
replytodisperstoty 84 #respond]
In the original it says gons
obbsicHuMom ancnepcun. I
did some searching in
Russian and aucnepcus
means definitely variance.
The word gong means
something like part or
percentage (of total). So it
most probably refers to an
analysis of variance,
maybe the part of the
overall tree-ring variance
(58,1%) attributed to
summer temp.
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Posted OH@NY09 at 4:31 PM |

Permalink [#£QNMpRE o5y ©°]

| Reply [/ yamal-

and—the—div‘gwc p%lgm/?

replytocom -—;gg]g%%ﬁespond]
ancnepcun seems to
mean “share of
explained variance”
at least in the
context of

eigenvalues in
discriminant analysis.

pode&Ndary, 2009 at 9:02 AM |

Permaligl [ ¥SIRAED Rilitg@aistS O]
| Reppy 7P PA LB al-
82K

and-thggg %ence—problem/?

replytoron 5894 égpifiRepond]
variation would be
considered very good.

AJStrata
[http://www.strata

sphere.com]

RepiE /2460 myments
360B44divergence-problem/?

re%ﬁt%ggwy =nlO %e7c7:60#respond]

For chrissakes. You
don't know which of
thew two groups is
anomlaous. All you
know is that you have
two populations that
diverge from each
other (actually there is
everything in between
as well). Your
assumption that the
“positive ‘responders’”
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are not the anomaly is
nothing more than
that: an assumption.

Which is the same as saying
you have no way of deriving a
temperature signal from tree
rings. But I think the point YOU
miss is, if Briffa, Mann, et al can
rationalize selecting data that
proves their fantasies, then the
reverse is true. The fact is what
Steve has done is destroy the
tree-mometer as an
scientifically valid (let alone
precise) instrument.

It never was an instrument of
any value. Any more than the
ground based real
thermometers that everyone
uses with questionable
precision, siting, calibration are
actually more accurate than a
long lived satellite instrument.
There is no comparison between
a network of haphazard ground
sensors being stitched together
through phantom statistics
when compared to a single
source making global
measurements.

It’s like comparing a butter
knife to a scalpel — which one
do you want to have surgery
with?

ATHiker has a valid point in
claiming at leas equivocation in
terms of what data to include
and not include. the But in my
mind it is nothing more than
debating the brand of butter
knife you select for surgery.

bender

Posted Oct 8. 2009 at 4:47 PM |
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PermaliRle :[ AlStrabef#129Y62 |

| Reply# £OIA OO BGDG261 9 -
and-thé+diseengtring-problem/?
replytocom=197762+#respond]

bepdQEd Oct 8, 2009 at 4:47 PM |

PeryeH Ak R MERE TP /Bt h

Reprty 4 r280R/el B Rgersiid af -hnels
deridresdigigencedesabtarg/?

refoly tbeserop p&sIteGregnrasgasnd |
and temperature thresholds,
climate reconstructions based
on ring width will miscalibrate
past climate, and
biogeochemical and dynamic
vegetation models will
overestimate carbon uptake and
treeline advance under future
warming scenarios.”

bend®Ed Oct 8, 2009 at 4:49 PM |
Permalink [ #comment-197763] |
Reply [/2BBIKEO¢OAppaim@ab-and-
therefitesrigaffcte groblem/?
replyto&sairel g Ml pagsthd]

you want to have
surgery with?

Always trying to force the
debate using absurd analogies.
I think I'll take the homeopath,
thanks, if you're the surgeon.

AJStrata
[http://www.strata

sphere.com]

DavelR,

E Posted Oct 8, 2009 at 5:04 PM |
At € QP t-197764] |
Reffilttp2 DAL A yEsaattid g /?

p=BR20iMsserAEAtP38DIEIS]?
rephaio ahensahiy/ tHidgt F§apoimdg

different way.
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I don't think trees are
thermometers. But I do think
ATHiker was onto something
important. If you DO believe
trees can measure temperature
then you have to look at what
could effect the tree-ometers
readings.

BTW, statistics cannot prove the
connection, they can only detect
a possible correlation - they are
not transfer functions which
take in ring width and spit out
temps in C. Only a proven,
measurable, repeatable
mechanism that maps ring
width to degrees C can prove
trees can be thermometers.

Statistically the more sun you
experience the more likely you
are to die. It is not the sun that
is killing you, it's actually the
days you are alive running your
odds of seeing another day
down.

Don‘t over sell statistics — the
field has a lot of power, but it
has to be anchored in a sound
physical or biological concept.

Anyway, what ATHiker touched
on was a intriguing and
measurable mechanism that
could wipe out the temperature
record in tree rings — acid rain.
Bender was too quick to dismiss
this point.

Play along on this thought
experiment: Assume tree rings
can be a sensor for at least
relative temperature shifts.
There are obvious conditions
that would override this ‘signal’.
Things like drought, disease,
etc. These other signals simply
overwhelm the temp signal.
There is no doubt this is a fact.
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Now, we have good
temperature records (relatively
speaking) for the last 100
years, just as the industrial
revolution took off and the SO2
emissions into the atmosphere
spread the acid across the
world’s forests. It is no doubt
this peaked in 1990 and began
to be reduced (at least here in
North America). This is
established.

You now have three concurrent
data sets to analyze against a
physical process (not just some
vague ‘correlation’). If you run
the tree ring data against the
temperature data against the
rising SO2 levels (which later
decreased in North America)
you may find that the SO2
completely overwhelmed the
weaker temp signal in these
mythical tree-ometers.

S02 has been shown to impact
the rings, no need to prove
that. What will probably be
discovered is the GLOBALLY tree
rings in the last 100 years were
driven not by temp alone.
Maybe initially, but later the
S02 took over and wiped out
the temp record.

If that can be shown, then you
have PROVEN that trees are
lousy thermometers and all
these larches and bristol cones
get thrown out of the UN/IPCC's
data. They should have been
anyway, but now you have a
real, measurable process (which
need statistics to show a
stronger correlation between
rings and SO2 than rings and
temp).

You throw all these tree rings
out by showing how the success
in saving the planet from acid
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rain worked to clean the air, but
also made it impossible for
Mann, et al to define the MWP
down or the current
temperature up.

A little green jujitsu.

poddenders, 2009 at 8:03 PM |

Permalipk [ X 5Q{PAPS (¥ 184y /1]

| Reppy: LZHR 1A OyFsnal-
and-thgadlreraRRcarERODIEM/ ?
replytogesnmatahtfreesiaend

EMOct 8, 2009 at 5:11 PM |
bR [ aamwh ELEaR 1977651 |

Rep‘ly [/2009/10/07/yamal-and-
ence-problem/?
regg\(;&,qsgm=197765#respond]

Good question,
[http://www.climateaudit.org/?
p=7320#comment-360618]
simple answer. If you have a
reference (i.e, a modern temp
record) and the tree ring core is
not following the temp record,

you know you have a busted
thermometer.

It's like testing any sensor, if it
fails to ‘'sense’ it's bad. You
don’t even need to know why it
failed. Some trees are in
conditions where other factors
are drowning out any
temperature (illness, shade,
sudden sun, etc).

The OTHER way to do this is to
assume the population as a
whole can detect temperature
variations. This assumes the
one or two broken ones will be
averaged out in the end (some
not getting any signal, some
hypersensitive, etc). The if the
bad apples are a sufficiently
small portion of the total
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population, larger samples will
remove these ‘bad apples’. I am
not saying this is better. But
what you don’t ever want to do
is to use a small sample with
lots of broken tree-mometers
and call it gospel!

CUBOREA oct 8, 2009 at 6:36 PM |
PerGexiffk—| yioroseame nb-Rieow §8Ur|
Re s /20 BSE50 FEVEy pon seand-
bengdrs'¢irganrshrePpF&blem/?
reﬂ&'ﬁéﬁ%‘?ﬁé by YikRking S ]

y thoughts? (Maybe best on
unthreaded)

Po %"&Itng 2009 at 4:44 AM |
Permalin T#‘coﬂwment—197775]

| RepRe [ cLH6UE Q#UBF P Mal-
and-thg#dioempente360686,/?

replytocom=197775#respond]
Background - I was in the

parent company of one of
Australia’s largest
timber/paper/pulp
companies and received
monthly management
briefings. Also, in the 1960
-70s I worked in or owned
labs researching diverse
plant growth responses to
nutrients full-time.
However, these were for
Australian conditions and 1
have no hands-on with
sub-Arctic species. There
is enough climate variation
within Australia as it is.

The most clarification I

can offer here is to repeat

http:/ /www.climateaudit.org/?
p=6910
[http://www.climateaudit.org/?

p=6910]

This sums up the way I
see the multiplicity of
problems. The abstract of
the paper by Wilmking
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referenced by bender says
nothing too much in
conflict. The U curves lurk
in about every paper I
have read.

It is almost a common
sense assumption that
trees from one species will
grow faster in warmer
regimes. Surprisingly, this
assumption has been little
tested but that has not
stopped the advance of
dendrothermometry. At
my present stage of
thought, there are too
many confounding
variables that cannot be
measured well enough to
allow any robust
conclusions about
dendrothermometry. The
papers I have read do not
cope well with such
variables. Near their fore
is the local temperature
measurements. I simply
do not trust GISS or CRU
and I supporting evidence
as to why it is unwise to
rely on them for some
purposes.

How many people have
seen a simple graph
relating tree ring
properties to local
temperatures, all other
likely factors held
constant? It's almost as
big a problem as Steve’s
quest for an engineering
quality paper on the
effects of GHG on radiative
balance.

WhisHePWEr 009 at 6:41 PM |

PergteN B ¢@reraandol§ Tedent |
Rephafd2066y §0ifyA0y aondhated -
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yout far-thedyoleg| Reque Btz / ?
reP@ytoeRin=197769#respond]

Need to get you over to
Australia for a tour.

Aussie.

CUH@HS] Oct 8, 2009 at 7:24 PM |

PerRstingn M GRIEMRN L -dAee/ ik

Repbyb[£2Q094 46 4hd/wardakand-
hasth &etteRr giagcang releanded

repthbtaghin Ak GivEhthespond |
Capitalisation I thought
“ICurious” might work as
another take on word/”Roman
numeral”/identity play....time for
bed!

E POSEAFOCL 9, 2000 at 6:21 AM |
LD [ SLER) 2197776] |
Reply /2009/10/07/yama| -and-

spher ence-problem/?
repéridesrom=197776#respond]

You do know some of us cannot
access the unthreaded
comments since accounts are
closed (that would be in the
‘you missed something’
category).

Why move my last comment
after all the other ones were
here? Was it really so far off
topic?

I wonder why I waste my time
with people who literally, cannot
see the globe for the trees.

Cheers, All!

MFSEes, 2000 at 6:48 AM |
pHRb.[ Avstrate(#193Y 78]
| Rep[y 6RO AGD6GTI -
and-th#rdicarrfusade Al rabtenefit

replytotiuradd 9EE/a¢ rdpiond ]
including “unthreaded”
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threads.

Nobody has to login or
have an account to post a
comment.

The only purpose of
accounts here is for those
who post a new article or
help administer the
system.

So: what are you having
trouble with?

If you can’t find a thread
through the top line links
or the most-recent links
on the right, then look for
a category on the left
(“unthreaded” is in there).
If you can’t find it that
way, use the CA search
function.

Does that help?

Posted OMK®009 at 7:27 AM |
Permalink [#Bomment-197780]

| Reply [/2Q0MIPER (49107
and-the-diveggepsaeneblem/?
replytocom=3t9648q # errqnd]

think AJ may be
confusing
unthreaded (which
doesn't require and
account) with the
message board
(which does).

AJStrata
[http://www.strata
= Posted Oct 9, 2009 at 6:28 AM |
sphiekelgamhment-197777] |
Re%\ggﬁzow/lO/O7/yama|—and—
the-divergence-problem/?
repeiGe@IF18¢/7/77#respond]

[http://www.climateaudit.org/?
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p=7320#comment-
360648] ,

Agreed, SO2 could have been a
growth enhancer throughout the
early industrial revolution
period, hitting toxic levels
sometime in the latter half of
the century and lowering
growth.

That would explain a surge and
then drop off in tree growth.

Sadly, with all these successes
in removing SO2 emissions we
could see the trees rebound

again — which would then be a
false signal of global warming!

Pok@€ Oct 9, 2009 at 9:40 AM |

Permaligk [ A 58¢PapS 11 19y 8°]
| Reppy La NI S5 OR@a7 2l -

and-thé-divergence-problem/?

replytoEonsarEthi89asesgond |
pointed out here before,
but maybe it's worth
repeating. It is possible
and maybe even plausible
that, because of the
inverted quadratic(upside-
down U-shaped)
relationship between
growth rate and
temperature in trees, the
“divergence” could actually
be a signh of INCREASING
TEMPERATURES. If so,
how ironic this would be!

SteveF
Polited Oct 9, 2009 at 9:16 AM |

permTah!h e[’#comment—197786] |

Repiyolw 2H410/07/yamal-and-
the-divergence-problem/?
r f",&"ot‘%ﬁﬁiﬂq Qyeghe rt@§9@ﬁvdﬂ
ooks to me like the issue of
divergence/selection at Yamal
places an enormous burden on
Briffa (and perhaps others
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involved in dendro work) to
offer a compelling rational
(along with supporting data) for
the selection criteria used for
modern trees, and even more
importantly, an explanation for
why those same criteria need
not be applied to trees from the
pre-instrument record.

I am no dendro, but everything
I have ever seen in science and
engineering screams that the
Briffa 2000 Yamal paper is
incredibly weak; indefensible
really. I wonder how such a
dubious analysis could ever get
published in a reviewed journal
without the above mentioned
rational for selection and
supporting data. That this weak
paper becomes highly sited in
the field and relied upon in
many subsequent climate
reconstructions begs belief.

bender

Anyone else here think that the
divePgeddes b whOR 3ha: 18 AM |

Pergpdining HESIMEBRE itk 871 |

Rephw&4808% § Ov0S nighemenas?d-
He gets dirckygeiticdyip mcke rat/ ?

rehgystard of-hisocarear# feelsond]
himself into thinking he has
skill, scratches his head over
some puzzling losses during the
“divergence” phase, goes broke,
and eventually goes off the
deep end when he realizes what
a fool he’s been all those years
- believing in “positive
responders”, convincing others
to buy in, until everyone’s
broke.

jae

| Reply [/2009/10/07/yamal-
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and-theediviedigeiic@problem/?
replytocom=197788+#respond]

Pod#@S8ct 9, 2009 at 9:35 PM |

PermaIiRE:[gﬂ ehbd 799]
| reppy LIRS (072

and-the-divergence-problemy?

replytocom=197799#respond]
puzzling losses

during the
“divergence”
phase, goes
broke, and
eventually goes
off the deep end

In real life, he starts a
Ponzi scheme. What would
the dendroclimatology
analog of a Ponzi scheme
be?

Pabeigkd Oct 9, 2009 at 9:41 AM |
PeMalink [#comment-197790] |
ReplyyihdRQReLE4R7/yamal-and-

the-divergence-problem/?

repIgtdesmtocal7yse f#h@spond]
signals” being thrown out

based on global temperature
records or based on matching
local temperature records?

I mean if a tree actually does
for some reason work as a
temperature proxy but the local
temperature diverges from the
global temp, would that
correctly functioning
treemometer get thrown out?

Carl G
%St? Oct %2009 at 11:02 AM |
Perm ¢

e et?/lloulz791]|
egﬁﬂb‘)ﬁ e

i ﬁEQ@E!@ﬁq PERB
repd¢t AR Taldhd0e #6ReEeNE]

assume that models failing to
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validate is the result of anything

other than a poor model

(although other reasons could

be at play, the first best

assumption should be model
failure). I don’t get why people

don't get it.

PostBeDEey 2009 at 11:17 AM |

Permaligks. [érp.r&mg&ti—afﬁw]

| Repjy A0

agﬁal—

and-thergPeeSHERER P

emy/?

replytoseppartilg dRgtrasneng ]

keep the treemomet

er

faith strong. See the
Danby study I cite in

unthreaded.

IFDosted Oct 9, 2009 at 2:58 PM |
PerBel vk iEFRCORLPEE 200773 sis
Reptu y26F 099U A6 Firafral sarscbf
Larch g stidndsgarideegam thatn/?
‘Eﬂ?ﬁb&ﬁ‘ﬁ 1'=|51139@D‘59?i'3%ﬂ‘@@ﬁond]

correlation between tree
growth width and rainfall.

ring
Firs

are in the same family as

Larches. Three stands (y

oung

mature and old growth) were

studied. The best correla

tion

was in rainfall in the start of
growth in June and rainfall in
October which was the end of
the growing season. Young

trees had a negative correlation
to rainfall. Recorded rainfall and

temperature records were
available for the study period.

Go to:

Page 161 of 182

https://scholarsbank.uoregon.edu/xmlui/handle/179:

show=full

[https://scholarsbank.uoregon.edu/xmlui/handle/1794,

show=full]

Eastern Oregon is not a cold

climate but the study does show
that available moisture is more
important than temperature for

conifers growing in a high
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rainfall but relatively low
sunlight area. Given the low
rainfall in Siberia, available
water would also seem be to an
important driving force for
larches that would have to be
accounted for in any Siberian
tree ring correlation.

podlendero, 2009 at 5:47 PM |
Permalipk [ 9 fy197797]

| Rephy LA A5 0 G 2!
and-thergvardRa $5-dM aRISRY/ ?
replytogiaarh@ fRily sagpond ]

absolutely nothing about
their likely responses to

different factors or what
factors might be limiting.

Postagi@etMPeb®o at 6:20 AM |
Permali kO THARAEF (3

| Reply [/ yamal-
and—the—div‘g problem/?
replytocom= #eegaand]
bender.

However, isn't it
interesting how this
study seems to call
into question some
pretty basic
assumptions? l.e.,
here they show that
rainfall can be a
limiting factor even
though there’s plenty
of rain.

Oh well, no time to
look into this. Life
calls this week...

I

ans
Erren
[http://home.casema.nl/errenwijlens/co2/howmuch.hti

£ Posted Oct 9, 2009 at 4:32 PM |

"Wermalink [#comment-197796] |
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Reply: [/2009/10/07/yamal-and-
the-divergence-problem/?
replytocom=197796#respond]

Aaron

P 2009 at 7:43 PM |
Per%;cael\i;;eli %gﬁaément—197798] |

Repinrid 20 Q9 A) AbUraBtales ade

purth &+ tardeisdeupratvlem/?
repigttec ovhat1thg pagpree 9bnd]

your tireless efforts in regard to
ancient tree growth and how
best to handle the ring data. As
I pointed out to Real Climate,
you are simply trying to give
climate science a gift, the gift of
absolute scrutiny and rigor.
Why are they so angry? Only
the “Know It All’'s” who can’t
stand a little bright light yelp
the loudest. They should be
thankful you‘ve got the brains
and desire to ask a few
fundamental questions about
this erudite field of paleo-
dendro-climatology and more
importantly, application of the
very best statistical approaches
to tease out fact from fiction.
After all, these tree ring data
climate reconstructions are the
pillars AGW. Let’s be certain
we've got the columns properly
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plumbed before piling on a
whole lot more intellectual
weight. Gravity and Nature
have a nasty habit of exposing
the weaknesses of any man
made structure, be it brick and
mortar or ideas and laws.

snip - prohibited word

Please understand there are
many educated people who find
your efforts both refreshing and
courageous. I want to express
my gratitude and admiration for
your tenacity and admirable
conduct in this matter with
Briffa. Hang in there. Not to
mention, it is terribly
entertaining, much more so
than Dancing with the Stars.

Goggle Oct 10, 2009 at 2:54 AM |

PergidinahtieP Lhadife k|
Remwiéﬂ&p%mmsand'
writfe@-diboacaas aeepieatalem/?

redlytaten fe 1S 814 #rddpond]
interesting.
http: //www.asmp.fr/travaux/communications/2005/
[http://www.asmp.fr/travaux/communications/2005/la

steven

mosher
Posted Oct 12, 2009 at 1:12 AM |

PerdRafake] PRAME rAkINMEITRER | |

wenty RO WOt pmaland.
rob e Hdsh S AFARIS By

reiabéﬁsbrféa‘anﬁz&%%f@s@@nd]
should be used. The degree of
coherence of a particular record
with NH temperatures, so long
as it correlates robustly with
local temperatures, is only of
minimal importance so long as
proxy replication is high.

(2) The “divergence problem”
needs to be addressed and
explored at the local/regional
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scale. For those TR records
where the divergence effect can
be attributed to anthropogenic
influences (i.e. related to
pollution or dimming etc.) the
data can be truncated at the
point where divergence starts,
and the rest of the data used
[see Wilson and Elling 2004].
Alternatively if these effects are
seen to be the result of
detrending ‘end effects’ [Melvin
2004, K. Briffa and T. Melvin,
Climatic Research Unit, pers.
comm., 2006], correction can
be made using improved
detrending techniques. With
respect to temporally unstable
relationships, palaeoclimatology
must ultimately rely on James
Hutton’s principle of
uniformitarianism whereby
relationships between proxies
and their targets, drawn during
the calibration interval, are
assumed to remain relatively
stable over time. Therefore, for
those TR chronologies which
express a significant response
change with climate (e.g. a
weakening in temperature
response due to an increase in
moisture stress), these series
should be used with caution (or
in some cases not at all) for
such large-scale reconstructions
of past temperatures since it is
not possible to quantify whether
such non-linear response
changes have also occurred in
the past, unless it is presumed
that such a non-linear response
is unique to the recent
anthropogenic period.

(3) Currently, most NH
temperature reconstructions
target the annual season
despite the individual proxies
generally portraying a summer
signal at local scales. Although
it has been argued that trees
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from selected treeline sites may
integrate climate conditions
during non-growing season
months [Jacoby and D'Arrigo
1989; Payette et al. 1996;
Frank and Esper 2005], this
tendency may also be partly
related to a better empirical ‘fit’
between the proxy and
instrumental annual data prior
to 1880 - a period where the
quality of large-scale
hemispheric instrumental data
can be questioned. Calibration
trials using WNH2007 against
ENH temperatures (Figure 5,
Table 4), excluding the pre-
1880 period, show similar
results for both the annual and
summer seasons. Therefore,
more detailed explorative work
assessing the quality of
instrumental series prior to the
1880s is needed before a
balanced decision can be made
on which is the optimal target
seasonal parameter for
reconstruction. Further
calibration trials (Figure 8), but
utilizing a mean of the gridded
temperature series used for
calibration of the individual TR
proxy series, strongly suggest
that ENH summer temperatures
would be the optimal large-
scale target instrumental
predictand season.

(4) The research of Wilson and
Luckman [2003], and the
simple analyses made in this
study suggest that optimal
calibration, with regards to
tracking recent temperature
trends using TR data, can be
gained by targeting maximum
rather than mean temperatures.
To test this hypothesis,
however, more explorative work
on tree-ring
growth/temperature
relationships is needed in
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regions where there is a
significant difference in trend
between nighttime and daytime
temperatures [e.g. Youngblut
and Luckman, in press; Blntgen
et al. in revision]. If indeed a
predominant optimal tree
response is found with
maximum temperatures at
temperature limiting locations
(i.e. altitudinal and latitudinal
tree-lines), this would have
major implications for
dendroclimatology that must be
addressed in the ongoing
discussion of late 20th/early
21st-century changes in tree-
ring/climate relationships.

(5) Finally, not only are much
more data needed in the early
pre-1400 period [Cook et al.
2004, NRC 2006; D'Arrigo et al.
2006] to increase replication
and therefore improve large-
scale reconstruction confidence
during these earlier periods, but
existing data-sets also need to
be updated to present, as well
as incorporating new data-sets,
to allow more robust
comparison with the
instrumental record over recent
decades.

steven
mosher

sorry a link
Posted Oct 12, 2009 at 1:13 AM |

Mmmmmenmum/mllenmum12a2 I

jHennium/Millennium12a2.h

r=p|th§6‘r‘i’1eI197804#respond]
Re: steven mosher

(#225) [#comment-
Postah @6} 2009 at 2:52 AM |

Permalink [#comment-197805]
| Reply [/2009/10/07 yamal-

and-the-div F% %Fg blem/?
replytocom 988 respond]
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which express a
significant
response change
with climate (e.g.
a weakening in
temperature
response due to
an increase in
moisture stress),
these series
should be used
with caution (or
in some cases
not at all)

Esper’s principle, still in
play.

steven
mosher

Posted Oct Re:oender (#226)
Permalink [#lcheomenente7807]
| Reply [/ 2300680 Thadinal-
and—the—div@@%@é?ﬁ?@@lé{ﬁ?}f?
replytocom -'—Il‘@"?'BW'#?@_ﬁéé‘r'F&]
spent some time
reviewing the
millenium project.
I'm not sure if Steve
covered that paper
here, it's on the
divergence problem.
The did a new recon
using cores never
used before.
Interestingly, they
still have a slight
diveregence problem
in the post 1988
period with rings
undershooting the
temp record. They
dismiss UHI as a
potential problem in
the text. I found that
fascinating.
Personally ( because
of Ross’s work and
Anthony’s work) I'm
of the belief that
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from the late 70’s on
you’ve got some
small measure of
UHI entering the
record, maybe .15C
or so. So you have

1. Well establish
Climate science that
says UHI is real

2. A suspect claim
that it has been
removed from the
record.

3. Tree rings that
diverge in the last
couple decades.

And dendros who are
scrambling to find
some reason for this
divergence other
than the obvious.
Posted Oct 13, 20%@?!41 AM |
Permalink [#comment-197809]
| Reply [/2009/R€)/Steveinnal-
and-the-divergefeshethlem/?
replytocom=197&8228dspond]
[#comment-

361099] ,

So
you
have

1.

Well
establish
Climate
science
that
says
UHI is
real
2. A
suspect
claim
that it
has
been
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removed
from

the
record.
3.

Tree
rings
that
diverge
in the
last
couple
decades.

And
dendros
who

are
scrambling
to find
some
reason

for

this
divergence
other

than

the
obvious.

UHI in the
surface
observations
could also help
explain another
“divergence
problem”: the
failure of the
tropical
troposphere to
show greater
warming than
the surface.

R
Posted Oct 14, 2I

Permalink [#comf)
| Reply [/2009/
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and-the-divergern decopmubkemb/ ?
replytocom=1978618889pond]

dendros
who

are
scrambling
to find
some
reason

for

this
divergence
other

than

the
obvious

But this would
not explain why
treeline trees
are diverging
from each
other; i.e.
“positive and
negative
responders”.
The reason for
this divergence
is truly not
known.

EWsted Oct 13, 2009 at 8:28 AM |
Perryplink [#comment-197808] |
Reply [/2009/10/07/yamal-and-

As tiseedivirg @dfetiprustsean/?

reW@UcdiﬁﬁEquVBY)Sl#ﬁes_Pond]
defending his Yamal PhD Thesis

just today morning - Oct. 13,

2009, at the Institute of Plant

and Animal Ecology in

Yekaterinburg.

JFD
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PerBender[2H&mment-197810] |
Repi¢'E/ E0D gpoty Oy aiQitand-

PangfavhRrery @H&@ SHFG (SiRdn /2
re BTN TY ;2%5%%?%%1

stump analy5|s.

http: / /www.fs.fed.us/r6/uma/publications/history/U
[http://www.fs.fed.us/r6/uma/publications/history/Um:

start paste

Growth: In order to obtain an
idea of the rate of diameter
growth of larch and Douglas fir,
the stumps of a few trees were
analysed. The stumps were
chosen from a typical north
slope type where larch and
Douglas fir formed at least
eighty per cent of the stand and
were in about the same
proportion in the stand. The
measurements of only a few
trees of each species were
obtained, but it is believed that
these few examples will prove
typical for this locality as only
young

or medium aged, representative
trees were chosen for analysis.
The stump analysis data
obtained in the field has been
combined and evened off on a
curve, based on diameter and
age. These curves are shown on
{the diagram?}.

Several points of difference may
be noted in the manner of
growth of Douglas fir and larch
by referring to these curves.
Larch shows a convex curve
being an intolerant tree. It also
shows a greater rapidity of
growth than Douglas fir for
most of its life. Douglas fir
being a fairly tolerant tree,
especially when growing on
moist slopes, has a concave
curve the same as spruce
growing under similar
conditions. Douglas fir can
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survive a period of considerable
suppression in its youth,
whereas larch, under like
conditions, will be killed off. If
larch can not receive enough
light in order to

make good growth it dies, but
Douglas fir will survive if the
shade is not too dense, until an
accident to some of the old
trees causes an opening in the
crown cover, which gives it an
opportunity to proceed more
rapidly with its development.

At about 240 years the curves
of Douglas fir and larch are seen
to cross. The Douglas fir has
caught up with the larch. This is
due to the fact that Douglas fir
will tolerate more suppression in
youth than larch. Douglas fir,
which were in their youth
suppressed, have thus been
included in the curve, whereas,
larch trees which were at any
time badly suppressed were
killed out in early youth and so
have not been included in the
curve. Nevertheless, it is
undoubtedly true that larch for
the first 150 years of its life at
least is naturally a faster grower
than Douglas fir.

Mark

[http://meanderingpath.blogspot.com/]
‘Posted Oct 14, 2009 at 11:07 AM |

pedhidstidqokesrbcraalcimgte ] |
ReéﬁPmé@@mﬁﬁPfyé&anm-

a Es
S

but still have the hockey stick. I
then decide to see if these
graphs had been addressed
here starting with Wahl and
Ammann. Needless to say I was
not impressed with realclimate’s
response and it only got worse
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when I then looked up the
Oerlemans graph.

McCulloch

[http://www.econ.ohio
Posted Oct 14, 2009 at 11:32 AM |

Pergﬁesbt@se[dﬁgﬁg?og@ﬁ;ﬁ}%ﬁ}3l |
Reply yamal-and-
RE Maskdiatdence-problem/?
reE’YtQ&'S'ﬁ{n*al@ﬁi‘B'?# r%tspond] ] ]
www.sciencemag.org/cqi/reprint/1107046v1.
thtD.//www.saencemaq.orq/cqi/reprint/l 107046v1.pc
only goes back to 1600 AD, and
hence sheds no light on the
MWP (c. 1000 AD), which is
what the HS controversy is all
about. We all know there was a
LIA — the big issue is whether
the 20th ¢ was just emerging
from the LIA and returning to
normal, or if it was warmer than
the pre-LIA norm.

This and most of the other HS
graphs put up by RC were just
red herrings. [self-snip]

PosteB@RAEX, 2009 at 11:40 AM |

Permaligls | fGMEEEIIbch’ /8141
| Repjy PP PAERMARMal-
and-thggiiygggence-problem/?
replytoesaaaﬁryl%mquﬁ@%%mnd]
There is confidence back
to AD1600. No sane
person doubts this. Prior
to about AD1400 the

wheels come off the
wagon.

[http://noconsensus.wordpress.com]
Posted Oct 14, 2009 at 11:49 AM |

Permahﬁﬁ [%#%%%78 15]

and-théfdivége I&-:S—BF%‘EYePﬁ}d’?
replytocom= 197815#respond]
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when Hu starts snipping
his thoughts

=gt.ﬂsed Oct 14, 2009 at 2:08 PM |
e gpazB ddgspot.com/]

Repl uggg%10/07/yama| -and-
the-divergence-problem/?

reyégtddoad gdthésddtheegpsind |
from my brief look into the
matter. Thanks for making the
point clearer than I did.

*~ HaBs§ed Oct 17, 2009 at 5:58 PM |
e Ernen [#comment 197817] |
6|

Jusglaﬁrﬂ't)@rﬂ@snﬁ?er%r@\pé?m/?
repbREPSA ATHIh /b FRR AR

rings for co2 fertilisation?

18, 2009 at 5:36 AM |
Perfhetipls [/AGoW Bt dH68 18] |
Reply [/2009/10/07/yamal-and-

statBeediverasiBenphemigm/?

eplytocom= 197818# espond
r IEEyHans Erren #238 resp ]

just curious, has there
ever been an attempt
to correct tree rings for
co?2 fertilisation?

I did this in Comment #32
[http://www.climateaudit.org/?
p=2969#comment-235202]

of my 4/7/08 post, “More on Li,
Nychka and Ammann”. See also
#46 of that thread.

Briefly, I found that including
CO2 greatly weakened the
significance of the 4 TR series
included in the 14 MBH99 series
LNA considered, and in some
cases eliminated it altogether.
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The latter included “Urals”,
evidently before the “Yamal
Substitution” under discussion
had taken place. PC1, on the
other hand, remained
significant, albeit greatly
weakened.

In Comment #46, I show that
using Mizon’s more stringent
approach to serial correlation,
even PC1 is not robust to
inclusion of CO2.

CO2 is getting rather OT here —
perhaps this could be continued
on the old LNA thread?

Af&sted Oct 19, 2009 at 6:48 AM |
persaimy [#comment 197820] |

A h/hi/earth_news/newsid_8:.
BBéh_%ngergence problem/?

reRtYpO P HEwWs BB 88 e PEsEh / hi/earth _news/newsid
[http://news.bbc.co.uk/earth/hi/earth_news/newsid 8.

ATHi&eH Oct 7, 2009 at 2:06 PM |

Permaligk dvierP FOsHaY t#4850] |
Reqly { GHyal-and-
That'ie é&&é{&r 19ShHSt Qt’@kﬁéer{é‘s/ ?
re@byo60En Thedidesfet rmeprad]

He potted trees both diverged
and non-diverged tress (before
mid century). The only this is
that you think Briffa was hiding
the fact but he did not.

Anyone doing a temperate
reconstruction would review and
incorporate peer-review before
doing their work. They would
have read about a problem with
some trees at mid 20th . It is
printed In Nature.

Steve has done an excellent job
proving that Briffa work for his
Nature letter 1998

bender
Posted Oct 7. 2009 at 2:20 PM |
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PerRexli AT Hilkken(#ABd)-197631] |

Redl¥ (0RDENTO360BR¢G=hal-and-
Didtheu dieterepgchnepautisiem/?

regikamplen=197631#respond]
[http://www.climateaudit.org/?
p=7320#comment-
360355] ? Do you not
understand why you would
quickly go broke using his
scheme? If that’s the case, then
please go over to RC and
advertise his scheme widely. I
want to buy an island in the
carribean and you are my
ticket. Hurry along now.

ATHI&®H Oct 7, 2009 at 2:21 PM |

PermaliNT HiIcQP 12874 197632] |
Reqty {ZAHIAAUIBGARal-and-
the-divergence-problem/?
replytocom=197632#respond]
Then you are accusing
Briffa of cherry-picking
because it would be
impossible for him to
remove bad data from
the vast majority of
the reconstruction,
which has no
temperature record.

Something is wrong with the
divergent trees (fungus, bugs, I
don’t know). Knowing that if I
included these trees without
stating the fact, That would be
wrong.

steven
MOAsRENH Oct 7, 2009 at 3:29 PM |

Permaling HficQPTR88-197652] |

Renly [oAHHEAEUEBAAT12I-and-
ATH@rdIvergence-problem/?

replytocom=197652#respond]
I see nothing of the sort. When
you say DIVERGENT what do
you mean? do you mean
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negatively correlated with
temperature? slightly positive?
what? That’s the analysis I want
to see. Not subjective ” look
they match”

Further, you have the problem
of spurious correlation. In
particular here you have 1 tree
that shows an 8 sigma
response. That according to the
resident plant experts is
waaayyy beyond the typical
response. I want to see all 17
cores that were sent to briffa. I
want to know how he went from
17 to 12. How was that choice
made? Finally, the divergence
issue is really a challenge to the
whole endeavor. Until you
understand WHY they diverged
you cant make any
reconstruction. That is, your
precisious yamals may have
diverged in the MWP. So, by
including divergent trees now
you at least get a clear view of
CIs.. they will be floor to ceiling
I bet. So, go ahead and use non
diverent series to draw your
best estimate, but the CIs have
to account for the post hoc
selection

bender
Posted Oct 7, 2009 at 2:39 PM |

Fortﬁ”e*l%ﬁ@lé% thléd Fb‘b'Fé‘ﬁW7

reBS R8I rHLEW P%Bﬁ:#?&épﬁnd

nomlaous All you know tha

you have two populations that
diverge from each other
(actually there is everything in
between as well). Your
assumption that the “positive
‘responders’” are not the
anomaly is nothing more than
that: an assumption.

Why does Briffa eschew the
cherry-picking of samples within
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a chronology. Answer me right
now.

Morgaky Oct 7, 2009 at 2:59 PM |

Pergali 197645] |
Reﬁf&%%&élg Isﬁ’l]gl'g'%%*?al and-

the-divergence-problem/?

replytocom=197645#respond]
Something is wrong

with the divergent
trees (fungus, bugs, I
don’t know). Knowing
that if I included these
trees without stating
the fact, That would be
wrong.

Even if it is true that the
removed trees were damaged,
removing them will bias the
record unless the same criteria
are applied to trees throughout
it, with the same degree of
effectiveness. It's not a matter
of why, or whether the reason is
valid from a “this will weed out
bad treemometers” perspective.
It's a matter of treating one
part of the series differently
from the rest, then making
claims about that one part being
exceptional relative to the
others.

I agree with you that stating the
fact “all trees were included in
the chronology, including those
damaged by bugs and/or
fungus, because we don’t know
whether our ability to detect
such damage is impacted by the
age and or fossil status of the
tree” would be good practice.
Assuming it’s true.

By the way, I envy your
moniker. I dearly wish I could
spend more time on the trail.
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ATHIK®H Oct 7, 2009 at 2:53 PM |

Permalige hHl &P gRt-197643] |

Reﬂ'#é&%%%ﬁ;%%é}s alsgng-
putft AN &E6R 'F>rf’b|em/7

repbyRoserBEr eegpond]
thermometer at our houses.
From 1900 through today we
record every hour. Once a year
we check out our thermometer
to the calibrated one Steve has.
In 1952 bender’ diverged from
Steve’s but mine did not.
bender’ thermometer diverged
and mine did not so, I can use
mine for 1900 till today but
bender’s must be excluded from
1952 on or excluded all
together.

ATHikeH oct 7, 2009 at 3:05 PM |
Perﬁ@n%gﬁgp 05 t-197647] |
Reply al-and-

coLne- divergence-problem;/?
repheRcedgo 8r frfe/daerp@nd ]

thanks again.

bepdEd oct 7, 2009 at 3:08 PM |

Pergali f -197649] |
Reﬁé%@ @eg\gaipal and-

PledS€ ANRKEEGE rB‘E%?W’
repltiterRms9ing4 Atserpamdl]

fund. You seem like a nice guy.

Terakted Oct 7, 2009 at 3:32 PM |

PermaliNT HiIcQP 12884 197653] |
Renly {4ATH %ﬁ%%g@”ﬂaband'
what) §n9W§Z@§ neeablem/?
regiyEeRe Mo iddftaf respond]
thermometers are correct and
that the divergent one is in

error. Or is it in fact the other
way around.

bender

Posted Oct 7. 2009 at 3:39 PM |
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PerRex|i AT Hiker(#68)-197654] |

Redl¥ (0R0D@NTO360BR#hal-and-
Thetlegadipleryengiveris flawed?

reW@@é@Wl@?@Wﬁé%nd]
thermometers. You can be quite
certain the mercury is
responding to molecular
collisions in the same way in
each case. Heck, you might not
even need calibrate the
instruments. It might be 1:1
with no error. Back in the real
world, you are comparing trees
to thermometers. You can not
be quite certain that the trees
and thermometers are
responding to molecular
collisions in the same way.
There is no question you are
going to have to calibrate the
“instruments”. And you can
expect the calibration statistics
will be quite poor compared to
your trivially silly example. You
are not going to have 1:1 and it
is not going to be without a
scattershot of random variation.

You can’t asume that trees are
precise thermometers, just
because growth and
temperature are weakly
correlated.

Your example is at the opposite
end of the spectrum of
absurdity as mpaul’s. Reality is
in somewhere in the middle, but
closer to mpaul’s.

steM@md Oct 7, 2009 at 8:15 PM |
PerMORREr#comment-197671] |

Remg:[{,%gg%{.ﬁﬁgiyamal—and—
[ #BRIINREISEGE0RODIEM/?
rephykKEOBRTdE? / SdrhéwRepond ]
around here I pointed to a
paper that employed a model of
ring response. That would be
cool to play with.
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AfGsted Oct 19, 2009 at 6:38 AM |
Perds@ifH® [ #comment-197819] |

Rediptip2Omem s obr.corukyearth/hi/earth_news/newsid_8:

Re:URSGAI 4R 4ghoblem/?
reP#th&ﬁﬁﬂéﬂ_%ﬁeﬁpond]

One Trackback

1. By Global Opvarmning 1.
Netop Afsigret Som

Keempemaessiqgt
Videnskabeligt

Svindelnummer » Euro-med
[http://euro-med.dk/?

=11029] on Oct 9, 2009 at
4:18 PM

[...] kan underbygge

hans pastand - og at hans hold
arbejder pa at bestyrke den!
MclIntyres svar 7 Oct. 2009:
“Hvis ringbredderne er aftaget i
den sidste halvdel af det 20.
drhundrede (Briffas [...]
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